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Question Number : 1 Question Id : 1034351011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first term.
M24 :F17 :: P36 : ?

Options :
1. * J29
2. ¥ 129
3. * H29
4. % 128

Question Number : 1 Question Id : 1034351011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

39 oy &1 999 B S R Ue J I UHR ¥ afd § oy R ¥ k1 Ue Ugd Ue § Yafdd 7
M24 :F17 :: P36 : ?

Options :
1. % J29
2. ¥ 129
3. % H29
4. % 128

Question Number : 2 Question Id : 1034351012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1. ¥ PQR
2. % NRD
3. ® OJK
4. % NMI

Question Number : 2 Question Id : 1034351012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ PQR

2. * NRD

3. ®* OJK

4. % NMI

Question Number : 3 Question Id : 1034351013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. % 123-231
2. % 352-523
3. % 461 -614
4, ¥ 478 - 874

Question Number : 3 Question Id : 1034351013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T fawed & 9 & Te Ay e I 90 § | 8TalD, Uh fAwed o1 9 & de -Te] ¢ | 39 [aded &1 78 &3 oIl 3 4 3T |
Options :

1. % 123-231

2. % 352-523

3. % 461 -614

4. ¥ 478 - 874

Question Number : 4 Question Id : 1034351014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following letter series:
LMA, O0Z, RQY, USX,

Options :

1. ¥ XUW

2. % XTW

3. % YUW

4. % YTW

Question Number : 4 Question Id : 1034351014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferRad &R e o1 Q1
LMA, O0Z, RQY, USX,

Options :

1. ¥ XUW

2. % XTW

3. % YUW

4. ¥ YTW

Question Number : 5 Question Id : 1034351015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the wrong term in the given series.
BM, EO, HQ, KT, NU

Options :
1. % EO
2. % HQ
3. ¥ KT
4. % NU

Question Number : 5 Question Id : 1034351015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 TS ST | TTAd Ue J1d pI |
BM, EO, HQ, KT, NU

Options :
1. % EO
2. % HQ
3. ¥ KT
4. % NU




Question Number : 6 Question Id : 1034351016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question one statement is given, followed by two conclusions, I and II. You have to consider the statement to be true even if it seems to be
at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statement.
Statement:

Q<R<S<T=ZW<ZY

Conclusions:

L. T=Y

ILY>T

Options :

1. % Only conclusion I follows

2. % Only conclusion II follows

3. % Either conclusion I or II follow

4. % Both conclusion I and II follow

Question Number : 6 Question Id : 1034351016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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HY:

Q<R<S<T<W<Y

fAsh .

. T=Y
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Options :

1. % Had (sHY [ 3T HT §

2. % Had BN 11 IR0 Hal §

3.« T el Fsam s 1 37 11 SRR el §

4. % F5HY [ SR 11 THT TR0 & §

Question Number : 7 Question Id : 1034351017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A, B, C and D are four friends. B is richer than A and C, but C is smarter than him. D is not as smart as C, while A is the least smart. C is not as
rich as A. D is richer than B but not smarter than him. Who is the richest?

Options :
1. % A
2.% B
3. % C
4. ¥ D

Question Number : 7 Question Id : 1034351017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % A

2.% B

3. % C

4. ¥ D

Question Number : 8 Question Id : 1034351018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Following are the conditions for admitting students for a Programme in Management.

The applicant must —

(1) not be less than twenty one years as on 1.7.2021.

(i1) be a graduate in any discipline with at least 70% marks.

(ii1) have passed the written test and interview with at least 70% marks.

(iv) have work experience of at least 6 months after completing graduation.

In the case of an applicant who fulfils all other conditions except:

(a) at (i1) above, but has a degree in commerce , his/her case is to be referred to Director.

(b) at (iii) above, but has work experience of more than 2 years, his/her case is to be referred to HOD.
Rajesh has been working for 3 years after completing graduation. He has a degree in commerce. He was born on 1-11-1998. He has secured 75%
marks in the written test & interview and 65% marks in graduation.



Options :

1. # The Candidate is selected.

2. # The Candidate is not selected.

3. % The candidate is to be referred to Director.
4. #* The candidate is to be referred to HOD.

Question Number : 8 Question Id : 1034351018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % IrficaR &1 9o fhar T § |

2. % IR BT IT- gl fhar T g
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Question Number : 9 Question Id : 1034351019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
For a job, a candidate must fulfil the following criteria:
I. The age should be from 23 to 27 as on 1st July 2021.

II. Must have secured at least 70% marks in graduation.
II1. Must have done post-graduation with at least 65% marks.



I'V. Must have an experience of at least 2 years.

V. Must have secured at least 70% in written test and 75% in interview.

In the case of candidate who fulfils all conditions except —

(a) At (II) above, but is a post graduate with at least 75% marks, his case to be referred to Manager.

(b) at (IV) above, but has secured at least 80% marks in interview and at least 80% marks in written test, his case to be referred to Assistant.

In question below, details of a candidate are provided followed by a question and 4 courses of action. Select the course of action that applies to
the person’s candidature.

Aman was born on 20 May 1995. He secured 75% marks in graduation. He secured 70% marks in post graduation. He also secured 75% marks in
both written test and interview. He has an experience of 3 years.

Options :

1. ¥ He will be selected.

2. % He will not be selected.

3. % He will be referred to manager.

4. % He will be referred to Assistant.

Question Number : 9 Question Id : 1034351019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tl & oY, T SHIGaR & FMAfRd AMES! ! IXT BT 8-

I 1 TS 2021 TP 3G 23 F 27 & §1d g1 NG|

I1. HIde T GAdY 70% 3idh U fbT g1 =g

111, gAY 65% 3{ch| & 1Y FTdeb TR [T g1 AT |

IV. AdqH 2 T4 BT 3HT g1 A1eT|

v. feraa utem & =gAaH 70% 3R A1&THR T 75% U foar g1 = |

Tt R B R A aTal SWIGAR &1 Rufa o, Ryara:

(a) SRIE (II) TR, Al TATH 75% 3feh! & I FIAD IR ©, ITBT HHAT YeUH DI T id fowar S g |

W%(W) T, Afe AT&TBR T YAaH 80% 3 3R fARad uien & =g 80% 3idh UT fhU §, ST A Terd & Uaiid
IS

:ﬂ%ﬁnﬂuu%ﬁ,Waﬂﬂwéﬁw$aﬁwuasﬁ?m|iq|é$4wuﬁnw%lwwﬁrﬁaﬂﬂmwaﬂaﬁaﬁﬁmé?

HH DT I B |

3{H T ST 20 FS 1995 B G UT| IT HIADH H 75% 37 IRIA fhl | I AITBIR H 70% 3 U oy | 39 farfad aien siR

TETBR Gl H 75% 3idh T fhl 81 S U1 3 T¥ T 3Ha g |

Options :
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Question Number : 10 Question Id : 1034351020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the missing number in the given series:
32,33,25,52,-12,

Options :
1. % 112
2. % 111
3. %109
4.9 113

Question Number : 10 Question Id : 1034351020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FRIEECRIE AN ISR RC NI ECRE
32,33,25,52,-12,

Options :
1. % 112
2. % 111
3. %109
4. 113

Question Number : 11 Question Id : 1034351021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following questions is based on the five three-digit numbers given below.
287 395 678 453 145
If in each number three digits are arranged in descending order, which of the following will be the lowest?

Options :



1. = 287
2. % 395
3. % 678
4. % 145

Question Number : 11 Question Id : 1034351021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 287

2. % 395

3. % 678

4. % 145

Question Number : 12 Question Id : 1034351022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If each of the even digits in the number 7867469 is increased by '1' and each of the odd digits is decreased by '2', then which of the followings
will be the sum of the digits of the number?

Options :
1. % 42
2. % 44
3.9¥ 45
4. % 36

Question Number : 12 Question Id : 1034351022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 42

2. % 44

3.9 45

4. % 36

Question Number : 13 Question Id : 1034351023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Anita and Babita are the sisters. Mukesh and Nikita are couple. Nikita is the brother of Pradeep who is the son of Anita. Omkar is the daughter of
Nikita. How is Anita related to Omkar?

Options :

1. # Paternal Grandfather
2. ¥ Paternal Grandmother
3. % Mother

4. ® Sister

Question Number : 13 Question Id : 1034351023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # <lal

2. ¥ rdl

3. % Hidl

4. % dg-

Question Number : 14 Question Id : 1034351024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In a class, 5 boys are sitting in a row facing North. Dinesh is to the left of Anil and to the right of Chunky. Emily is sitting to the right of Bhuvan
but to the left of Chunky. Who is sitting in the middle?

Options :

1. ¥ Chunky
2. % Emily
3. % Dinesh
4. % Anil

Question Number : 14 Question Id : 1034351024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ Al

2. % Uil

3. % faam

4. % 3fAd

Question Number : 15 Question Id : 1034351025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Speed of boat in still water is 24 kmph & speed of current is 4 kmph. The boat completes round trip from A to B in 6 hrs. Find the distance
between A and B.

Options :

1. % 70 km
2. % 30 km
3. % 90 km
4. % 120 km

Question Number : 15 Question Id : 1034351025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ 70 km

2. % 30 km

3. % 90 km

4. % 120 km

Question Number : 16 Question Id : 1034351026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one in which the question figure is hidden/embedded.

Options :



3. ¢

Question Number : 16 Question Id : 1034351026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& e IR SHiadl § T, I i &1 99 B ford Uy enepfa fsdtafafed g

Options :



3.¢

Question Number : 17 Question Id : 1034351027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. * Image A
2. % Image B
3. % Image C
4. ¥ Image D

Question Number : 17 Question Id : 1034351027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Bfda
2. % BfdB
3. % BfdC
4. ¥ 3D

Question Number : 18 Question Id : 1034351028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line AB, then which of the answer figures is the correct mirror image of the given figure?



Options :



Question Number : 18 Question Id : 1034351028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



Question Number : 19 Question Id : 1034351029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following Venn Diagram, the triangle represents 'girls', the circle represents 'athletes', the square represents 'disciplined' and the rectangle
represents 'boys'. The number given in the diagram represents the member of persons of that particular category.



How many boys who are athletes and disciplined?

Options :
1. %1
2.9 2
3.% 6
4. % 10

Question Number : 19 Question Id : 1034351029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 1
2.9 2
3.% 6
4. % 10



Question Number : 20 Question Id : 1034351030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following figure is folded to form a cube. Which representation of the cube in the given option is correct one?

Options :



3.¢¥

Question Number : 20 Question Id : 1034351030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



2. %
3.¢
4. %
General Awareness
Group Number : 2
Group Id : 10343552
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Show Attended Group? : No
Edit Attended Group? : No
Break time : 0

Group Marks : 20
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Section Id : 10343552
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Number of Questions to be attempted : 20
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Enable Mark as Answered Mark for Review and Clear Response : Yes
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Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 1034351031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On which day the World Asthma Day is observed every year?
Options :

1. ¥ On the third Tuesday of May every year

2. % On the Second Tuesday of May every year

3. ¥ On the first Tuesday of May every year

4. % On the last Tuesday of May every year

Question Number : 21 Question Id : 1034351031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fay srem faay e v oy & &1 w=man ofrar 82
Options :

1. % gAY Hg & IR HITAR Bl

2. % XY A b gEN HIAAR Bl

3. ¢ AN Hg & Ugdl HITAdR Pl

4. % G IY 3 & SMRA TIAIR Bl

Question Number : 22 Question Id : 1034351032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Recently, which new scheme was launched by the Supreme Court?
Options :

1. ¥ FORMER

2. % FASTER

3. ¥ HIGHER

4. % HUMAN

Question Number : 22 Question Id : 1034351032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BT 81 H, IIdH <1aTerd gRT I It 718 Aol IR Bl 152
Options :

1. % B

2. % RS

3. % g

4, % ggHA

Question Number : 23 Question Id : 1034351033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Ashoka the Great had promoted the spread of
Options :

1. # Jainism
2. ® Hinduism
3. # Judaism
4. ¥ Buddhism

Question Number : 23 Question Id : 1034351033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A8 32NP A & TR &I Fgrar fear ol
Options :

1. % Sy
2. % fggyd

3. % ggdr ey
4.V gG Yd

Question Number : 24 Question Id : 1034351034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the symbol of the Horse signify in context with Buddha’s life?
Options :

1. # Death (Parinirvana)

2. # Enlightment (Nirvana )

3. % First Sermon (Dhammachakraparivartan)

4. ¥ The Great Departure (Mahabhinishkramana)

Question Number : 24 Question Id : 1034351034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I & Silad & TaH # OYs 1 g 1 a=idl 82

Options :



1. % g (GRG0

2. % MY (afo)

3. % Ugdl SUSY (YFIHINGa)
4. ¥ HEH URI (ARTHASHH)

Question Number : 25 Question Id : 1034351035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many Veto Powers does the President of India have?
Options :

1. ¥ Three

2. % Five

3. % Two

4. % One

Question Number : 25 Question Id : 1034351035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR & AFUfd & U foba didt rar &
Options :

1. ¥ A

2. % U9

3. % Q)

4. % U

Question Number : 26 Question Id : 1034351036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On which date the Indian Constitution was adopted by the Government of India?
Options :

1. * 26th January 1950



2. % 15th August 1947
3. ' 26th November 1949
4. % 1st March 1950

Question Number : 26 Question Id : 1034351036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRJ WHR gRT HRAT AfAeT™ P fbd TRIG BT 3I1a1 797 UT?
Options :

1. % 26 SFTaRT 1950

2. % 15 31 1947

3. ¢ 26 TdeR 1949

4. % 19/ 1950

Question Number : 27 Question Id : 1034351037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the Indian women's cricket team who won the Arjuna Award in 20207?
Options :

1. ¥ Deepti Sharma

2. % Deepa Sharma

3. # Deepali Sharma

4. % Devika Sharma

Question Number : 27 Question Id : 1034351037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Al fohdre AH T 2020 H 3o RIGR frgm Shar
Options :

1. ¢ difty g

2. % oy gl



3. % gYorer Tl
4. % Sfgemr Tl

Question Number : 28 Question Id : 1034351038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which Basic Volleyball Rule for Playing the Game is correct from the following options?
Options :

1. # 6 players on a team, 1 on the front row and 5 on the back row.
2. # 6 players on a team, 4 on the front row and 2 on the back row.
3. # 6 players on a team, 2 on the front row and 4 on the back row.

4. ¥ 6 players on a team, 3 on the front row and 3 on the back row.

Question Number : 28 Question Id : 1034351038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifed fadedl & | P a1 geryd areliaie Fam O Qe & e I8t 82
Options :

1. % Th A H 6 IS, M B R A 1 SR N H R A 5 /e

2. % T A H 6 fAAE, M F R T 4 3R fid B gR | 2 fIarst|

3. % Up A H 6 FAaTet, 3M & R #A 2 3R e & R # 4 faaret|

4. ¢ TH AU H 6 fJATS), M P R A 3 IR YD & sR A 3 fFarst|

Question Number : 29 Question Id : 1034351039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Kandariya Mahadeva Temple is situated in which state?
Options :

1. ¥ Madhya Pradesh



2. # Gujrat
3. ¥ Uttar Pradesh
4. % Kerala

Question Number : 29 Question Id : 1034351039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fefa HeTed HieR g Iea 7 fRud 7
Options :

|. ¢ AF Y
2. % TORId
3. % IR YW
4. % YA

Question Number : 30 Question Id : 1034351040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Dhrupad is a genre in Hindustani classical music, what is the meaning of Dhrupad?

Options :

1. ® The word Dhrupad is derived from Dhruva, the steadfast evening star that moves through the galaxy, and Pada meaning voice.
2. ¥ The word Dhrupad is derived from Dhruva, the steadfast evening star that moves through the galaxy, and Pada meaning poetry.
3. # The word Dhrupad is derived from Dhruva, the steadfast morning star that moves through the galaxy, and Pada meaning poetry.

4. ® The word Dhrupad is derived from Dhruva, the steadfast evening star that moves through the galaxy, and Pada meaning bird.

Question Number : 30 Question Id : 1034351040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fEgear IR Wid H gue U el §, Yug &I a1 372 g2

Options :

1. % ¢UG g Yd I o T &, SRR i aRT1 & S J-alicb-11 & 9l g, 3R UTG &7 31 g AT |
2. ¢ §UG Xeg ¢d I forar T g, S FRR Fieg aRT1 g SN et H el 8, 3R UTe &1 31 Hfaar g1




3. % ¢UG Xeq Yd I forar a1 g, SRR Yeh dRT © Sl Aalich-1 § Faldl §, 3R U1G &1 31 diddr g
4. % ¢UT Vg Yd 3 forar T B, SRR Tied aRT 8 S Halioh- | Il 5, 3R UTg &1 31 yeft g

Question Number : 31 Question Id : 1034351041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rohtang Pass connects

Options :

1. # The Kullu Valley with the Lahaul and Spiti Valleys of Madhya Pradesh, India.
2. # The Kullu Manali with the Lahaul and Spiti Valleys of Himachal Pradesh, India.
3. # The Kullu Valley with the Lahaul and Spiti Valleys of Kashmir, India.

4. ¥ The Kullu Valley with the Lahaul and Spiti Valleys of Himachal Pradesh, India.

Question Number : 31 Question Id : 1034351041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Agamiexi  HIoredrgl

Options :

1. % T YR, YR &1 areid 3R Thfd foren & I Heg urel|

2. % TRUMd UeR, YR &1 Areid 3R Tifa frem & a1 e 7wl |
3. % HIYR, YR B! Alerd 3R T forem & Iy Feg et |

4. TEHMEA U=, YR &1 Alerd 3R TWifd fS7el o A1y P orct|

Question Number : 32 Question Id : 1034351042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Jammu Kashmir is famous for its special garden, which garden is this from following options?
Options :

1. ® Indira Gandhi Memorial Lotus Garden

2. ¥ Indira Gandhi Memorial Tulip Garden

3. # Indira Gandhi Memorial Rose Garden



4. % Indira Gandhi Memorial Lily Garden

Question Number : 32 Question Id : 1034351042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

O] HRHR U faRIY I & fore Ul 8, U8 SaH Fafefad fasedl § 4 o w1 g?
Options :

1. % fexr e Auiiad diey meA

2. v fer Tt AR e TS

3. % e e Aafae I meA

4. % e el AR forett e

Question Number : 33 Question Id : 1034351043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Currently (As on August 2021), Who is the Union Finance Minister?
Options :

1. #® Pranab Kumar Mukherjee

2. ¥ Nirmala Sitharaman

3. % Arun Jaitley

4. ® Piyush Goyal

Question Number : 33 Question Id : 1034351043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IH | (3T 2021 dF), Hard fod T3t i 82
Options :

1. % TUE $HAR JEoif

2. ¢ T FdR™A

3. % 3fUIScdl

4. % Uy Td




Question Number : 34 Question Id : 1034351044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
One revolution of the earth around the sun takes approximately

Options :

1. ¥ 365 days and 6 hours or one year
2. % 366 days and 6 hours or one year
3. % 265 days and 6 hours

4. % 367 days and 6 hours or one year

Question Number : 34 Question Id : 1034351044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

G & IRI 3R Yedl BT Teh FhR THIHAT AT
Options :

1. ¢ 365 faT 3R 6 HC AT U o

2. % 366 fa 3R 6 g TTUH Ty

3. % 265 G 3R 6 EC

4. % 367 a7 3R 6 U AT U T

Question Number : 35 Question Id : 1034351045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IQ stands for and, it is a measure of a person's reasoning ability.
Options :

1. # Interesting Quotient
2. % Intelligence Quality
3. % Intelligence Quotient

4. # Intelligence Question

Question Number : 35 Question Id : 1034351045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

1Q T Ui Yo 2 3R U8 A P db AT ST AT B
Options :

1. % SRRLETPice

2. % Tl Siferdt

3.« Sefeolg Plcc

4. % geforoid e

Question Number : 36 Question Id : 1034351046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Selman Waksman discovered streptomycin from this bacterium, which proved an effective medicine against:
Options :

1. % Ebola virus

2. % Asthma

3. % HIV

4. ¥ Tuberculosis

Question Number : 36 Question Id : 1034351046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

E THE A 3 SaTy] A ROHERA B @ 31, 5 9 & {&ere e yurdh gar aifed gs:
Options :

1. % gl arERY

2. % QHI

3. ¥ HIV

4. & I

Question Number : 37 Question Id : 1034351047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

PARAM Siddhi-Al and Mihir are two Supercomputers from which country?
Options :

1. ¥ India

2. # Pakistan

3. % Afghanistan

4. % Bangladesh

Question Number : 37 Question Id : 1034351047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A RAfG-Al 3R FfeR 5 S & &1 gR R 52
Options :

1. YRd

2. % UrfhEd™

3. % ST

4. % AR

Question Number : 38 Question Id : 1034351048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Total how many countries are the members of The South Asian Association for Regional Cooperation (SAARC)?
Options :

1. ¥ Eight

2. % Ten

3. ¥ Seven

4. ® Six

Question Number : 38 Question Id : 1034351048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Bd o <= 20T TRETE &5 TgaNT Te (G89) S Jo 82



Options :
1. ¥ 36
2. %
3. % YId
4. % Bg

Question Number : 39 Question Id : 1034351049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The only foreigner to receive Padma Vibhushan in 2021 is

Options :

1. ¥ Shinzo Abe

2. # George Fernandes

3. # Jigme Dorji Wangchuck
4. ¥ Syed Muazzem Ali

Question Number : 39 Question Id : 1034351049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2021 T YT fayuoT U = arelt U dTd faez gl
Options :

1. ¢ RISl ordl

2. % SIS BASY

3. % o SRl gl

4. % g YIS 3fcht

Question Number : 40 Question Id : 1034351050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is the author of the book "Stories I Must Tell"?
Options :



1. # Nani Palkhivala
2. # Pooja Bedi
3. % Kabir Bedi
4. # John Keats

Question Number : 40 Question Id : 1034351050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRV TS IR A" T & aad DI 62

Options :
1. % S UTcisbaTer
2. % W Ed]
3. ¢ HAR 9
4. % S DIcH
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Group Id : 10343553
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Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 1034351051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a/b=11/13 then what is the value of (a*-b%)/(a*+b?)
Options :

1. * -0.2

2.9 -0.25

3. % -0.24

4. % -0.26

Question Number : 41 Question Id : 1034351051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e a/b=11/13 B A (a*-b%)/(a*+b?) BT HH T &
Options :

1. % -0.2

2.9 -0.25

3. % -0.24

4. % -0.26

Question Number : 42 Question Id : 1034351052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
What fraction is 8 seconds of 3 hours?
Options :

1. ® 1/1530

2. % 1/1500

3.9 1/1350

4. % 1/13500

Question Number : 42 Question Id : 1034351052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
sYbhsUg3eH gl

Options :

1. ® 1/1530

2. % 1/1500

3.9 1/1350

4. % 1/13500

Question Number : 43 Question Id : 1034351053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A board i.e. 8 feet and 9 inches tallis divided into 3 equal parts. What is the length of each part?
Options :

1. % 53

2. % 55

3. % 33

4.+ 35

Question Number : 43 Question Id : 1034351053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS SIS I 8 BIC 3R 9 39 AdT, BT 3 SRISR HFT § SieT T 8§ | YD HFT Dt daTs T 82



Options :
1. % 53
2. % 55
3. % 33
4, 35

Question Number : 44 Question Id : 1034351054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When a number is divided by 18, 28, 38 then it leaves a remainder of 13 in each case. Find such smallest number.
Options :

1. % 4800

2. % 4802

3. % 4803

4. ¥ 4801

Question Number : 44 Question Id : 1034351054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oid foralt T Y 18, 28, 38 A faHTiord fosar smar g ) udss fRufa & 13 Au Sisar g1 Wt Tod Bt T=1 J1d B
Options :

1. # 4800

2. % 4802

3. ® 4803

4. ¥ 4801

Question Number : 45 Question Id : 1034351055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the largest number that divided 45, 57 and 65 leaves a common remainder. What is the remainder?
Options :

1. % 4,3



2.¥ 4,1
3.% 4,0
4.% 1,4

Question Number : 45 Question Id : 1034351055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I8 I TSI T J1d DX il 45, 57 3R 65 I HRT B TR A A6 SISl o | ATHS 1 82
Options :

1. % 4,3

2.9 4,1

3.% 4,0

4. % 1,4

Question Number : 46 Question Id : 1034351056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A square and a equilateral triangle have the same length of sides. The side is 16 cm. What is the ratio of the area of the square to the triangle?
Options :

1. % V3:4

2. % 1:1

3. ¥ 43

4. % 4:2

Question Number : 46 Question Id : 1034351056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 1 SR JHaETg By &1 YSTafl &1 daTs T it 8 | Yol 16 om © | G b S0 d o1 BT I SfI0Td 31 82
Options :

1. % \3:4

2. % 111

3.¥ 443



4, % 4:2

Question Number : 47 Question Id : 1034351057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of present ages of Salman and Amar is 8:9. After 15 years the ratio of their ages become 13:14. What is their present ages?
Options :

1. % 8,9

2.9 24,27

3. % 16, 18

4, % 32,36

Question Number : 47 Question Id : 1034351057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 3R TR BT IIH ST BT U 8:9 B 1 15 TS §IG II1 TG BT AT 13:14 B AT & | I IIHM ST FT 82
Options :

1. % 8,9

2.9 24 27

3. % 16, 18

4. % 32,36

Question Number : 48 Question Id : 1034351058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The price of a commodity has decreased by 16% and then it has increased by 22%. What is the new cost as a percentage of the original cost?
Options :

1. % 102.0%

2. % 103.0%

3.9 102.48%

4. % 104.0%



Question Number : 48 Question Id : 1034351058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH I S AT H 16% I B TS § AR TR 22% T IS 8% ¢ o ATd & Ufa=id & U | -5 anTd a1 82
Options :

1. #® 102.0%

2. % 103.0%

3. ¥ 102.48%

4. % 104.0%

Question Number : 49 Question Id : 1034351059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The value of a machine depreciates at a rate of 13% p.a. If the present value is Rs. 5670000, what will be it's worth after 2 years?
Options :

1. ¥ Rs. 4291632

2. % Rs. 4291623

3. % Rs. 4291326

4. # Rs. 4291236

Question Number : 49 Question Id : 1034351059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS HRIH BT G Ui a¥ 13% $1 &R U g 811 ¢ | Al 40 G 5670000 TUU &, 2 T 16 39PT1 Ged T GRI?
Options :

1. % 4291632 %47

2.9 4291623 34U

3. % 4291326 24U

4. % 4291236 %UU




Question Number : 50 Question Id : 1034351060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average weight of 20 crew members increase by 2.3 kg if a man of 43 kg is replaced with a new man. What is the weight of the new man?
Options :

1. ®= 98 kg

2. % 79kg

3. % 89 kg

4. % 78 kg

Question Number : 50 Question Id : 1034351060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sl gdl P 20 TSI DT 3T UR 2.3 ke §¢ ST § T 43 ke P T Afdd B Uh U fd & 1Y Tdll STl & | U AR T HIR 7 82
Options :

1. ® 98 kg

2. % 79kg

3. ¥ 89 kg

4. % 78 kg

Question Number : 51 Question Id : 1034351061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are 42 students in a hostel. 14 more students joined and the expenditure has been increased by Rs. 14 a day. The average expenditure has
decreased by Rs 2 per day. What was the original expenditure?

Options :

1. ¥ Rs. 387
2. % Rs. 378
3. % Rs. 783
4. % Rs. 738

Question Number : 51 Question Id : 1034351061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TP BEEN H 42 BH G| 14 3R S W gU 3R o § Ufafe 14 30T A 3G g3 § | 3id ogg & ufafeT 2 $uu I ot o 81 Ja g
T YU

Options :

|. % 387 30T

2. ¢ 378 ¥UY

3. % 783 3T

4. % 738 3T

Question Number : 52 Question Id : 1034351062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is the better offer:

1. Three successive discounts of 25%, 16%, 30%
i1. Three successive discounts of 28%, 26%, 8%
i1i. Three successive discounts of 18%, 56%, 3%
1v. Three successive discounts of 2%, 44%, 15%

Options :
1. %1

2. % 1
3. ¥ il

4. % 1v

Question Number : 52 Question Id : 1034351062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
P T 8RB B

i. 25%, 16%, 30% 1 I HiHD B

ii. 28%, 26%, 8% 1 I ShitDh BC

iii. 18%, 56%, 3% 1 Qi< Shitidh PC

iv. 2%, 44%, 15% 1 A<l shitidh Be

Options :




1. # 1
2. %1
3. ¥ ii

4, % 1y

Question Number : 53 Question Id : 1034351063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An article is listed at Rs. 80000 with a discount of 12%. What additional discount must be offered to the customer to bring the price to Rs.
64768?

Options :
1. ¥ 8%
2. % 10%
3. % 12%
4. % 6%

Question Number : 53 Question Id : 1034351063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP I 12% P FT P WY 80000 TUY TR YIS & | Hed DI 64768 BT dH A P oY U ot a1 Sifafead ge o o anfew?
Options :

1. ¥ 8%

2. % 10%

3. % 12%

4. % 6%

Question Number : 54 Question Id : 1034351064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A shopkeeper gives 28% discount on the list price of Rs. 56700. He made a loss of 10% after this transaction. What is the profit percentage that
he should keep to make a profit of Rs. 1700?

Options :



1. ¥ 3.75%
2. % 3.7%
3. % 3.5%
4. % 3.57%

Question Number : 54 Question Id : 1034351064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

wwﬂsmoowﬁﬁiﬂwmzs%wém%lwﬁﬁ%aﬁsﬁlo%ﬁaﬁ@‘l 1700 YT &1 @1 3ffofd e & fore 39
fep =11 AT gfr=rd T

Options :

1. ¥ 3.75%

2. % 3.7%

3. % 3.5%

4. % 3.57%

Question Number : 55 Question Id : 1034351065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Divide the amount 60000 between A and B such that the amount after 2 years is same as the amount after 3 years at interest 6% p.a compound
interest.

Options :

1. ¥ Rs. 30873.8, Rs. 29126.2
2. % Rs. 30837.8, Rs. 29261.2
3. ¥ Rs. 30783.8, Rs. 29261.2
4. # Rs.30738.8, Rs. 29261.2

Question Number : 55 Question Id : 1034351065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

60000 BT AR DT A 3R B & o9 37 UHR fIHIRTd B3 fob Ul T8 6% Thgfeg ST IR 2 T8 §1E Bi AR, 3 T & q1E BI AR & THH

Options :



1. ¥ 30873.8 ¥UU, 29126.2 >UU
2. % 30837.8®UU, 29261.2 ®UU
3. % 30783.8%4U,29261.2 ®UU
4. % 30738.8 UL, 29261.2 ¥UU

Question Number : 56 Question Id : 1034351066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Water flows into a tank that is 175m in length and 100m in width. The pipe is cylindrical and water flows through it at a speed of 12 km per hour.
The radius of the pipe is 0.7m. How long will it take to fill the tank by 5Sm?

Options :

1. # 248 mins
2. ¥ 284 mins
3. # 428 mins
4. #® 824 mins

Question Number : 56 Question Id : 1034351066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U bl H 981 § o] daTs 175m IR ASTS 100m § | UTSU SA-TPR g 3R 399 I UM Ufd e 12 km P 71fd D 9gdT g | UISU &1 B
0.7m 8| SP1 BY 5m dPb WA | fob =TT THT T2

Options :

1. % 248 fie
2.+ 284 fiAC
3. % 428 fiAC
4. % 824 fiFe

Question Number : 57 Question Id : 1034351067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ram and Shyam can do a job in 25 days together. If Ram alone takes 30 days to do the job then how long does Shyam take?
Options :



1. # 125 days
2. ¥ 150 days
3. % 105 days
4. # 115 days

Question Number : 57 Question Id : 1034351067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

W 3R T T 1Y 25 e 7 Ueb B X Gobdl 1 TFS I 3bet I 1 bl b3 H 30 faT A1 ], O 4 ) {1 g <iem
Options :

1. % 125feq

2. ¢ 150 faT

3. % 105 faA

4. % 115

Question Number : 58 Question Id : 1034351068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man walks up to the station at a speed of Skmph. However, he misses the train by 3 minutes. If he walks at 6kmph he reaches 4 mins early to
the station. What is the distance that the man covers?

Options :
1. # 7km
2. % 2km
3. % 3km
4.9 35km

Question Number : 58 Question Id : 1034351068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP Hfad WIH dF skmph B! 114§ IAdT & | ST, 98 3 e IS I ST 5 | TS I8 6kmph B1 7T T IdaT df 98 W 4 e
Ugd UgTdr| afad fhd-t gt o el 82

Options :




1. # 7km
2. % 2km
3. % 3km
4.4 3.5km

Question Number : 59 Question Id : 1034351069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The graph shows the percentage of the people that are vaccinated in each city. If city A and city D have total population of 6 lakhs and 10 lakhs
then what is the aggregate percentage of people vaccinated in the two?

Proportion of Total Population in 2020

Options :
1. ¥ 14.5%
2. % 14%
3. % 15%
4. % 16%

Question Number : 59 Question Id : 1034351069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TP YAH UER T CIBIHRU HRA aTd Al b UfIRId ) ST | 1 fe TSR A 3R XMER D B Hd ST 6 ARG 10 ARG &, At g1 o

CIHIHRUT A aTa AT &1 e Uia=Td o1 82
2020 ¥ P STHISAT BT AT

Options :
1. ¥ 14.5%
2. % 14%
3. % 15%
4. % 16%

Question Number : 60 Question Id : 1034351070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The graph shows the year on year production of rice. In how many years the production of rice has increased by more than 20% over the
production in previous year?
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Options :
1. %1
2.%3
3.¢2
4. % 0

Question Number : 60 Question Id : 1034351070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. * 1

2.% 3
3.2
4.%0
General English
Group Number : 4
Group Id : 10343554
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General English
Section Id : 10343554
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 10343564
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 1034351071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Therefore, when I get mad at somebody, I / express anger, but I also make it a point / of not punch them in the face.
Options :

1. % Therefore, when I get mad at somebody, I

2. # express anger, but I also make it a point

3. % of not punch them in the face.

4. ¥ No Error

Question Number : 61 Question Id : 1034351071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Therefore, when I get mad at somebody, I / express anger, but I also make it a point / of not punch them in the face.
Options :

1. # Therefore, when I get mad at somebody, I

2. # express anger, but I also make it a point

3. ¥ of not punch them in the face.

4. % No Error

Question Number : 62 Question Id : 1034351072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

At the turning of the last century / a new element began to make / its appearance in our world.
Options :
1. ¥ At the turning of the last century



2. # anew element began to make
3. # its appearance in our world.
4. ® No Error

Question Number : 62 Question Id : 1034351072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

At the turning of the last century / a new element began to make / its appearance in our world.
Options :

1. ¥ At the turning of the last century

2. % anew element began to make

3. # its appearance in our world.

4. ® No Error

Question Number : 63 Question Id : 1034351073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Looking out the windows, (passengers can see ground, only after thinning and thickening) globs of grey clouds and the spatter of rain on the
windows.

Options :

1. # passengers can see the ground, since the thinning and thickening globs

2. % passengers can't see the ground, only the thinning and thickening globs

3. ® passengers can't see the ground, after all only the thinning and thickening globs

4. # No correction required.

Question Number : 63 Question Id : 1034351073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Looking out the windows, (passengers can see ground, only after thinning and thickening) globs of grey clouds and the spatter of rain on the
windows.

Options :

1. # passengers can see the ground, since the thinning and thickening globs

2. % passengers can't see the ground, only the thinning and thickening globs

3. ® passengers can't see the ground, after all only the thinning and thickening globs

4. # No correction required.

Question Number : 64 Question Id : 1034351074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

No, the point is to first get (self-discipline people who engage) in very rigorous thinking.
Options :

1. ¥ self-disciplined people who engage

2. # self-discipline people who engaged

3. # self-disciplined people who are engage

4. ® No correction required.

Question Number : 64 Question Id : 1034351074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

No, the point is to first get (self-discipline people who engage) in very rigorous thinking.
Options :
1. ¥ self-disciplined people who engage



2. # self-discipline people who engaged
3. % self-disciplined people who are engage

4. # No correction required.

Question Number : 65 Question Id : 1034351075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

As if this period of disgraceful had the slightest capacity to produce anything of superior quality.
Options :

1. #* putrescence

2. % decadence

3. % scribbage

4. % abbreviator

Question Number : 65 Question Id : 1034351075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

As if this period of disgraceful had the slightest capacity to produce anything of superior quality.
Options :

1. ¥ putrescence

2. % decadence

3. % scribbage

4. % abbreviator

Question Number : 66 Question Id : 1034351076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sentences below are not complete. There are four options for each question. Choose the best word to complete the sentence.



All require deeper problems rather than avoiding them through highs.
Options :

1. % confront

2. # confronted

3. # confrontational

4. ¥ confronting

Question Number : 66 Question Id : 1034351076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sentences below are not complete. There are four options for each question. Choose the best word to complete the sentence.

All require deeper problems rather than avoiding them through highs.
Options :

1. % confront

2. % confronted

3. # confrontational

4. ¥ confronting

Question Number : 67 Question Id : 1034351077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the gramatically correct sentence from the given options.
Options :

1. ¥ A woman is more sensitive than an man.

2. % A woman is more sensitive than a man.

3. ¥ A woman is more sensitive then men.

4. % A woman is many sensitive then men.

Question Number : 67 Question Id : 1034351077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Choose the gramatically correct sentence from the given options.
Options :

1. * A woman is more sensitive than an man.

2. % A woman is more sensitive than a man.

3. ®* A woman is more sensitive then men.

4. % A woman is many sensitive then men.

Question Number : 68 Question Id : 1034351078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

Goondas Act is a type of preventive detention law that was first enacted in 1923 in Bengal.

P. The law is used in several forms in several states for ‘preventive detention of habitual offenders.’

Q. Goondas Act in Tamil Nadu is known as the Tamil Nadu Prevention of Dangerous Activities of Bootleggers, Drug Offenders etc.
R. This enables the authorities to imprison persons without having to provide for a court trial.

S. Historically, these acts were criticised for its use in detaining people who showed political dissent.

Even a single offence under the act enables the authorities to detain a person as a goonda.
Options :

1. # QSRP

2. % PQRS

3. % RPQS

4. ¥ PRSQ

Question Number : 68 Question Id : 1034351078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.



Goondas Act is a type of preventive detention law that was first enacted in 1923 in Bengal.

P. The law is used in several forms in several states for ‘preventive detention of habitual offenders.’

Q. Goondas Act in Tamil Nadu is known as the Tamil Nadu Prevention of Dangerous Activities of Bootleggers, Drug Offenders etc.
R. This enables the authorities to imprison persons without having to provide for a court trial.

S. Historically, these acts were criticised for its use in detaining people who showed political dissent.

Even a single offence under the act enables the authorities to detain a person as a goonda.
Options :

1. ¥ QSRP

2. % PQRS

3. % RPQS

4. ¥ PRSQ

Question Number : 69 Question Id : 1034351079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. % RECIEPE

2. ¥ RECIPE

3. ¥ RECEPIE

4. % RECIEPIE

Question Number : 69 Question Id : 1034351079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ RECIEPE



2. ¥ RECIPE
3. ¥ RECEPIE
4. % RECIEPIE

Question Number : 70 Question Id : 1034351080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

DISPARAGING

Options :

1. # DISLOYAL

2. % COMPLIMENTARY
3. ¥ DEFAMATORY

4. % DEVOTED

Question Number : 70 Question Id : 1034351080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

DISPARAGING

Options :

1. % DISLOYAL

2. ¥ COMPLIMENTARY
3. ¥ DEFAMATORY

4. ¥ DEVOTED

Question Number : 71 Question Id : 1034351081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.



CONGLOMERATE
Options :

1. ¥ HOMOGENOUS
2. % UNVARIED

3. ¥ CONSTANT

4. ¥ COMBINE

Question Number : 71 Question Id : 1034351081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

CONGLOMERATE
Options :

1. ¥ HOMOGENOUS
2. % UNVARIED

3. ¥ CONSTANT

4. ¥ COMBINE

Question Number : 72 Question Id : 1034351082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below.

DESPISE

Options :

1. ¥ MONOPOLY
2. % CARTEL

3. ¥ ACCEPT

4. ¥ OWNERSHIP

Question Number : 72 Question Id : 1034351082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below.

DESPISE

Options :

1. ¥ MONOPOLY
2. % CARTEL

3. ¥ ACCEPT

4. ¥ OWNERSHIP

Question Number : 73 Question Id : 1034351083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

Relating to the enjoyment or study of beauty
Options :

1. % Anile

2. % Avarice

3. ¥ Aesthetic

4. ¥ Menagerie

Question Number : 73 Question Id : 1034351083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

Relating to the enjoyment or study of beauty
Options :

1. # Anile

2. % Avarice

3. % Aesthetic

4. % Menagerie



Question Number : 74 Question Id : 1034351084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate idiom for the given sentence.

To work or operate in a satisfactory manner.
Options :

1. ¥ Cut the mustard

2. % Takes the biscuit

3. % Hot potato

4. # Topsy Turvy

Question Number : 74 Question Id : 1034351084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate idiom for the given sentence.

To work or operate in a satisfactory manner.
Options :

1. ¥ Cut the mustard

2. % Takes the biscuit

3. % Hot potato

4. % Topsy Turvy

Question Number : 75 Question Id : 1034351085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given proverb.

All roads lead to Rome.
Options :

1. # Life is what you make of it.



2. # The positive outcome of something makes the earlier negative things unimportant.
3. % There are several ways to complete a task.

4. ¥ When the food is nicely arranged, the appetite increases.

Question Number : 75 Question Id : 1034351085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given proverb.

All roads lead to Rome.

Options :

1. # Life is what you make of it.

2. % The positive outcome of something makes the earlier negative things unimportant.
3. ¥ There are several ways to complete a task.

4. % When the food is nicely arranged, the appetite increases.

Sub-Section Number : 2
Sub-Section Id : 10343565
Question Shuffling Allowed : Yes

Question Id : 1034351086 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives.

Enzo Ferrari was not initially interested in the idea of producing road cars when he formed Scuderia Ferrari in 1929, with headquarters in
Modena. Scuderia Ferrari literally means "Ferrari Stable" and is usually used to mean "Team Ferrari." Ferrari bought, prepared, and fielded Alfa
Romeo racing cars for gentleman drivers, functioning as the racing division of Alfa Romeo. In 1933, Alfa Romeo withdrew its in-house racing
team and Scuderia Ferrari took over as its works team: the Scuderia received Alfa's Grand Prix cars of the latest specifications and fielded many
famous drivers such as Tazio Nuvolari and Achille Varzi. In 1938, Alfa Romeo brought its racing operation again in-house, forming Alfa Corse
in Milan and hired Enzo Ferrari as manager of the new racing department; therefore, the Scuderia Ferrari was disbanded.

In September 1939, Ferrari left Alfa Romeo under the provision he would not use the Ferrari name in association with races or racing cars for at
least four years. A few days later he founded Auto Avio Costruzioni, headquartered in the facilities of the old Scuderia Ferrari. The new company
ostensibly produced machine tools and aircraft accessories. In 1940, Ferrari produced a race car — the Tipo 815, based on a Fiat platform. It was
the first Ferrari car and debuted at the 1940 Mille Miglia, but due to World War II it saw little competition. In 1943, the Ferrari factory moved to



Maranello, where it has remained ever since. The factory was bombed by the Allies and subsequently rebuilt including works for road car
production.

Sub questions

Question Number : 76 Question Id : 1034351087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On th basis of your reading of the above passage, choose the most appropriate heading for the same.
Options :

1. # Inside the Ferrari Factory

2. % Ferrari Stable

3. # The Maranello

4. ¥ History of Ferrari

Question Number : 77 Question Id : 1034351088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, what is the meaning of 'gentleman drivers'?
Options :

1. # Drivers above permitted legal driving age.

2. % Drivers of the male gender.

3. # People who handle cars gently.

4. % Drivers who are new learners.

Question Number : 78 Question Id : 1034351089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which establishment was bombed and had to be rebuilt on account of the damages?
Options :

1. # Alfa Romeo at Maranello

2. % Mille Miglia Factory

3. ¥ The Ferrari Factory

4. % Scuderia Ferrari



Question Number : 79 Question Id : 1034351090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Enzo Ferrari was not initially interested in:
Options :

1. ¥ Idea of producing road cars

2. # Idea of producing road trucks

3. % Idea of establishing a factory

4. # Idea of participating in a race

Question Number : 80 Question Id : 1034351091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On th basis of your reading of the above passage, which word can be substituted for the underlined word 'Scuderia Ferrari was disbanded' from
the following options?

Options :

1. # relocated
2. ¥ ceased
3. # bankrupt

4. % secured

Question Id : 1034351086 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives.

Enzo Ferrari was not initially interested in the idea of producing road cars when he formed Scuderia Ferrari in 1929, with headquarters in
Modena. Scuderia Ferrari literally means "Ferrari Stable" and is usually used to mean "Team Ferrari." Ferrari bought, prepared, and fielded Alfa
Romeo racing cars for gentleman drivers, functioning as the racing division of Alfa Romeo. In 1933, Alfa Romeo withdrew its in-house racing
team and Scuderia Ferrari took over as its works team: the Scuderia received Alfa's Grand Prix cars of the latest specifications and fielded many
famous drivers such as Tazio Nuvolari and Achille Varzi. In 1938, Alfa Romeo brought its racing operation again in-house, forming Alfa Corse
in Milan and hired Enzo Ferrari as manager of the new racing department; therefore, the Scuderia Ferrari was disbanded.

In September 1939, Ferrari left Alfa Romeo under the provision he would not use the Ferrari name in association with races or racing cars for at



least four years. A few days later he founded Auto Avio Costruzioni, headquartered in the facilities of the old Scuderia Ferrari. The new company
ostensibly produced machine tools and aircraft accessories. In 1940, Ferrari produced a race car — the Tipo 815, based on a Fiat platform. It was
the first Ferrari car and debuted at the 1940 Mille Miglia, but due to World War II it saw little competition. In 1943, the Ferrari factory moved to
Maranello, where it has remained ever since. The factory was bombed by the Allies and subsequently rebuilt including works for road car
production.

Sub questions

Question Number : 76 Question Id : 1034351087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On th basis of your reading of the above passage, choose the most appropriate heading for the same.
Options :

1. * Inside the Ferrari Factory

2. # Ferrari Stable

3. # The Maranello

4. ¥ History of Ferrari

Question Number : 77 Question Id : 1034351088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, what is the meaning of 'gentleman drivers'?
Options :

1. * Drivers above permitted legal driving age.

2. % Drivers of the male gender.

3. # People who handle cars gently.

4. % Drivers who are new learners.

Question Number : 78 Question Id : 1034351089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which establishment was bombed and had to be rebuilt on account of the damages?
Options :

1. # Alfa Romeo at Maranello

2. % Mille Miglia Factory



3. % The Ferrari Factory

4. % Scuderia Ferrari

Question Number : 79 Question Id : 1034351090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Enzo Ferrari was not initially interested in:
Options :

1. ¥ Idea of producing road cars

2. # Idea of producing road trucks

3. % Idea of establishing a factory

4. # Idea of participating in a race

Question Number : 80 Question Id : 1034351091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On th basis of your reading of the above passage, which word can be substituted for the underlined word 'Scuderia Ferrari was disbanded' from
the following options?

Options :

1. # relocated
2. ¥ ceased
3. # bankrupt

4. % secured
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Question Number : 81 Question Id : 1034351092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed vy IR fowddl § O 3 fdhey &1 90 B IUTT Vet &1 gl f[dhed 8l |

Options :

1. ¢ fR$UR
2. % gAMI
3. % TR
4. % T

Question Number : 81 Question Id : 1034351092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed vy 7 IR ol 7 9 39 fache &1 90 B IUT Yeg &1 Tg! A 81 |




Options :

Question Number : 82 Question Id : 1034351093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofeafad e & TR fadel & 3 39 fade &1 909 B3 Uy Wsg 1 Jg! fadbed 8 |
Options :

1. % 1Y

2. % G

3. ¢ Tig

4. % faorg

Question Number : 82 Question Id : 1034351093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad Uy & aR fowedl O T 39 fadwed &1 99+ &< Ul eg H1 gl [ddhed gl |
Options :

1. % 31

2. %

3. ¢ Tig

4. % faorg

Question Number : 83 Question Id : 1034351094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFaffad Uy o aR foswed! & T 39 f[dwed &1 99+ &< il fad T Y - fdwdg <reg &1 96! WfY &1 fdebed 81| a1 + 31

Options :




1. % U
2. % graRrfad
3. % gIpIY
4. ¢ g

Question Number : 83 Question Id : 1034351094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaied vy &, aR ol & ¥ 39 fdded &1 9a & off e 7Y 9 - fowsg e &1 9g! IS &1 fddwed 81 | 91 + 39
Options :

1. % g

2. % qraRIiek

3. % QIbIN

4.« 9rft

Question Number : 84 Question Id : 1034351095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafRad s 7 IR [dwedl O O 39 famed &1 994 &3 o fad U Sfe) Weq o1 Ta! fe-fdwsg g &1 fddhed 8 | F9%d
Options :

1. ¢ 90+ d

2. % 9+d

3. % IO+ d

4. % T+T4

Question Number : 84 Question Id : 1034351095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofafed gy o aR fawedl 7 ¥ 39 fodwed o1 997 & S I 77T 9 Weg o1 Tl Iid-fowse e &1 fawed 81 | 79
Options :

1. ¢ T+ d




2. % F+d
3. % IO+ d
4, % 940

Question Number : 85 Question Id : 1034351096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%m;au%ﬁ,mwﬁ@rwﬁwwmqqﬂﬁﬁmémugww&lmmwmﬁﬁmmaﬁ%wﬁ
B8l -

Options :

1. % UfcgTiRyce

2. ¢ RIS

3. % FHAARSD

4. % QTchIieIh

Question Number : 85 Question Id : 1034351096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qﬁjﬁﬁ%ﬁt{%ﬁﬂﬂﬁﬁﬁﬁ@rwﬁmwmdqdaﬁﬁamﬁ%%nugm%wmmﬁﬁm@@gﬁ%m%@aﬁ%qn@r
PIEl -

Options :

1. % UfagTies

2. ¢ UNIfeTRIG

3. % JHAHRS

4. % dlcpIicieh

Question Number : 86 Question Id : 1034351097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied v o TR fadwenl O 9 39 faded &1 70 &1 S faU 78 s - &1 Hat o aretl fdswed g1 | 3ielia - S

Options :



1. ¢ 31, Il
2. % IS8T, RMAT
3. % IR, AllRd
4. % DHidH gy

Question Number : 86 Question Id : 1034351097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad vy 7 IR fadedl A 39 fashed &1 90 o Sl f3T 71U Weg -G &1 Tgt 31 arell fdehed 81 | 3feiie - afferh
Options :

1. ¥ 3T, ddilc

2. % GIgT IRM™AT

3. % I AR

4. % HidH gy

Question Number : 87 Question Id : 1034351098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRad Uy o R fawedl O T 39 faded &1 o+ 6L Sl Y[ Wt b1 gl f[dbed 71 |
Options :

1. % fiqoufy

2. % diyg

3. % 3l

4. ¢ gi=5ardid

Question Number : 87 Question Id : 1034351098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafifad Uy o aR fased! & I I fdebed &1 999 &1 ol Y eg 1 Tl [dbed 71 |

Options :

1. % fqafy




2. % diyrg
3. % 3Tl

4. + gf=ardid

Question Number : 88 Question Id : 1034351099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad uy 7 IR foecdl § T 39 e &1 999 o3 Wil faU U Weg &1 Ie! faeiiv Wea § | &HT
Options :

1. % g9+

2.¥33

3. % 3fd

4. % I

Question Number : 88 Question Id : 1034351099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafed uy 7 TR ool § T 39 ey &1 999 o3 il foU U g &1 Ie! faeiv Wee § | &
Options :

1. # Y-

2.¥ G

3. % 3fd

4. % P

Question Number : 89 Question Id : 1034351100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad uy & aR fawedl & I 39 fdwed &1 99 3 ol fAU T8 9199 & &1d & e &1 el f[dhed g |
g gfear gift ot & SRy omsft |
Note: For this question, discrepancy 1s found in question/answer. So,this




question 1s 1gnored for all candidates.
Options :

1. quf Ydrd
2. HTHIY H\dcblﬂ

3. 3T Yd®Td
4. Ty YPbTal

Question Number : 89 Question Id : 1034351100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faffaa uy & aR fowedl & T 39 fawed &1 999 &3 ol fAU T8 a9 o &1 & Ne &1 Ue! f[dbed & | afe Jiear gt af § SR SIg |
Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. quf ydeera

2. gTHT Hdh T

3. 3F YdPbId
4. Ty YdPral

Question Number : 90 Question Id : 1034351101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafafea uy & TR faswedl § T 39 faswey &1 999 &3 Sl faU U a9 & &1 & Ue &1 Ta! [ddhed § | SRed! defl o ULied &1 afkoma
T SITIT 8T |

Options :

1. % 3{qul gfHE B
2. % g IAHM HId
3. ¢ Fiy YdbTa

4. % 3T BT




Question Number : 90 Question Id : 1034351101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy § IR fowddl § Q39 fadey &1 99 3 o AT T8 aT1e & HTd & Ve &1 el fadhed § | IRed! Hafl B uter &1 gikomd
I ST B |

Options :

1. % 3quf gaH H1a
2. % YUY IaHH HId
3. ¢ iy YdbTa

4. % 3A YdbTd

Question Number : 91 Question Id : 1034351102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafea uy & TR fowedl § T I fAewey &1 999 &3 ©l foU U arag & uef g &1 el fabed 1 |
i UedT g |

Options :

1. % gUidrRa®
2. ¢ ardes
3. % JRYIad
4. % (NS

Question Number : 91 Question Id : 1034351102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frofafad vy & R fadmedl & 9 39 fddhed &1 99 o Sl f3T U a1 & U U &1 98! fadhed § | i edi g |
Options :

1. % gUidRAa®

2. ¢ AdrEds

3. % JRYLIdH




4. % YIfaRIa®

Question Number : 92 Question Id : 1034351103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frofafad vy & R fawedl & 9 39 fadwen &1 999 o Sl fovm fug gad a1 &1 gt fdsed 5|
Options :

1. % A1 Sff GUIY 9= 919 A $eT, "qH 99 G ol 5 gig SHTele) 4T |

2. % =T ol YUY I a1 - $el "qH Gl G &l . H qre SHTele] 4 |

3. ¢ AT STt GUTY 9% a1 - $el, "qH 9 G af .5 g Mol i |"

4. % ST o GHTY T O - T, T7 Jol G & 5 T AT g |

Question Number : 92 Question Id : 1034351103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied v & aR fadweul o ¥ 39 famed &1 7o &1 S favm g gad 919 &1 98l fawe g |
Options :

1. % 3T Sft YUY T o 3 FeT, g9 G G o . H I 3MeTTe ¢ |

2. % YT S GHTY Tt S - T A el 1 & B e’ Srefrell &

3. ¢ T ot YUY T S 2 8T, "qH T G &l & TR AT g |

4. % T o UTY T 91 A 68T, TH I3 g3 &1 .5 Fe SHTog g |

Question Number : 93 Question Id : 1034351104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad vy & R faswedl & 3 39 fddhed &1 90 o S faR g gad a1 &1 gt faded §
Options :

1. % A B @ uRig = g |

2. ¢ BT {8l &1 URig AT |

3. % B Ff ot TG AT Y

4. % ST S o1 ufig T ||




Question Number : 93 Question Id : 1034351104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafRed Uy & TR fawedl § T 39 fadhed &1 9g4 &1 ol fov1| g gad a1ed &1 Hal [ddhed §
Options :

1. % BHTEH " el &1 uRig =8 |

2. ¢ BT [ B U =1

3. % HERA ) & uRig W@ &

4. % HHE R o ufig T ||

Question Number : 94 Question Id : 1034351105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafafed gy o IR fawedl # 9 39 faded &1 70 o3 off U T8 goTar o1 Fal 3 81 |
N AR &1 -

Options :

1. ¢ 30U &I 9gd IRAR JHSAT

2. % Gd HY P B oAl

3. % YIY BRIE g

4. % QI &1 SHEY W EHT

Question Number : 94 Question Id : 1034351105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofifed vy o =R fadedl § 9 39 fadbed &1 99+ &3 S f3U 70 goTar &1 el o1 g1 | g AR@l o1 -
Options :

1. ¢ 30U &I 9gd IRAR JHAT

2. % G HY HR B AT

3. % YGRS gl

4. % R B SAEY HRT BHT




Question Number : 95 Question Id : 1034351106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied g o TR fadwedl O 9 39 faded &1 7o 1 S faU 7T Alifdd &1 da! 3ri g7 |
IR TS TS ol T BT Dl

Options :

1. % STg oIy I P! STIRIH T A g, 34 a8 o ST

2. % It B gt o= fiear g

3. % ORI fARURTY &) B

4. ¥ I o1 | X frqapn

Question Number : 95 Question Id : 1034351106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafoad Uy & IR fowedl & T 39 fowey &1 709 &3 5 AU U Aidbifad &1 gl 31 81 | SR 718 qlg ol o1 BTl Bla—
Options :

1. ® S8 oI o &1 SATaadHdl 7 81, 39 ag1 o ST

2. % It 1 8t o FAraar g

3. % 3Tl FARURTY &l Sic

4. ¢ IS O | X forgapn

Sub-Section Number : 2
Sub-Section Id : 10343567
Question Shuffling Allowed : Yes

Question Id : 1034351107 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (96 to 100)

T fu TTU TeriRT @ eYE e UG SR U 7Y Ul &1 qarad SR 9 |

AR aRy™ S X8 A SR HHT ST arel B Ht g 81 ST vl g | SR aal & {1 § S1d 3Idhdx qhadT UTg off Il & | o
$HU ! STd W A Riet (Rrem) ari Wi arell IR & TR-GR 3H-9F I, ST IR ] 7S T ¥ fagdmr 39 R (= sifdrd gt Sirn
HRAT 8| I aRE FRAR 3R IR-TR 3 1 TS 3R IPT Hd I8 W T Hoed iR TS-gfg THg o ot dfad ot 8 &




I &9 Gohdl ¢ | ThadT 3R Rifg &1 W= & Tohdl ¢ | g9R faaR & a7 309 Sitaq & Sgydl & IR-d@ & U H g1 39 a8 $I a1
$el T 1 GART U1 Wi faym & 5 i v iR faR gdur sya R 1 21

Sub questions

Question Number : 96 Question Id : 1034351108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
OeTdT by UTS S Foball & 2
Options :

1. % 3R Y B B W

2. ¥ $EATIRAWR

3. ¢ SAHAT &b HI H DI SlbehR
4. % GIR BT IR B

Question Number : 97 Question Id : 1034351109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

% o 3R Tegfa $4 a7 9 I&hdl g |
Options :

1. % 3Tl gH R

2. % gUATT 964 WR

3. % BT HHAW

4. ¢ @R Td IRIR uRYA HH A

Question Number : 98 Question Id : 1034351110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ry 1 I Wsg RT8 2

Options :

1. % U3

2. % 44

3. % 39H



4.« faymg

Question Number : 99 Question Id : 1034351111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG HT RN AA G 2

Options :

1. # Tl

2. % gfgHH

3.¥ "

4. % RRYfG

Question Number : 100 Question Id : 1034351112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3gwe & e Ifud s ol |
Options :

1. ¢ R - DR Y SISHT BT Jour
2. % 3T B

3. % TSg(S
4. % JYREH & RIb

Question Id : 1034351107 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (96 to 100)

) fou T eI Y eaTgd S U SR U 7Y Ul T Tarad IR g | FReR ufke Ra T8 § S [T oA ara 1+ R g1 S
A1 ¢ | Bl & HIY H B 31hd: hadl UTg off Yl & | o1 HU &I ovTd R it Ryt (Rrem) ot @i areft Twit & dR-aR 8-
WM ¥, HIAd I B TS TS I oy 39 WR = sifdhd 8Y o ovdl 81 ST avg FRAR 3R SR-aR 31 a1f uie 3R I

T I8 Y TS Focdl 3R ST8-gfs THS S a1 Afad Wt $8 SR A 57 Il § | ThadT 3R Rifg &1 W= R 9ohdl g1 AR
ﬁﬂwﬁgggﬁﬁﬂwé 3{IHAT & TR-dd & ¥U H g1 39 a8 DI a1d el o | THRT 3T i fay € foh HiAa UIg 3R R adut
3fHa- |

Sub questions




Question Number : 96 Question Id : 1034351108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
THAdT Y UTS S bl § 2
Options :

1. % 3RM Y FE BT R

2. % $B A IA W

3. ¢ FHAT & T H Pid Slbhr
4. % IR DI IR IR

Question Number : 97 Question Id : 1034351109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T e 3R STegfa H8 9 §9 I&hdl § |
Options :

1. % 3T gH R

2. % gUATT 961 R

3. % HHTHHWR

4. ¢ TR Td TRIR URYA B I

Question Number : 98 Question Id : 1034351110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
aReyH 1 o Wsg |18 2

Options :

1. % 13

2. % 4H

3. % 3IH

4. ¢ fayH

Question Number : 99 Question Id : 1034351111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Segfa BT IR g 2

Options :

1. % dlcih
2. % gfgHH
3.¥ "

4. % RRYfG

Question Number : 100 Question Id : 1034351112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3Teve & forg I e dfm |

Options :
1. ¢ A - HIA WY STSH{d glal gorrd
2. % S BT
3. % Segfa
4. % GURGH b NP

Disciplinel
Group Number : 6
Group Id : 10343556
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
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Disciplinel

Section Id : 10343556
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 10343568
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 1034351113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The derivative of a function is

Options :

1. * order

2. % range

3. ¥ rate of change

4. * slope

Question Number : 101 Question Id : 1034351113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TP o B HIHASA §

Options :

1. % hH

2. % AT

3. ¢ ORI R

4. % Yqurdl



Question Number : 102 Question Id : 1034351114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If u = x? then the derivative of x* is :
Options :

1. # 4u (du+dx)

2. % 2u (du+dx)

3. % 3u (du+dx)

4. % y (du+dx)

Question Number : 102 Question Id : 1034351114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Zlﬁu=x2%?‘ﬁx4$fwgz
Options :

1. # 4u (du+dx)

2. % 2u (du+dx)

3. % 3u (du+dx)

4. # y (du+dx)

Question Number : 103 Question Id : 1034351115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If (u= 1+x)Then the derivative of 1+x?is :
Options :

1. % 2+ %3

2. % 1+x3

3.% (-1)=x?

4, ¥ (-2)+ %3

Question Number : 103 Question Id : 1034351115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e (u= 1+x) A 1+x2 BT THAS g :
Options :

1. % 2+x3

2. % 1+x3

3. % (-1)+x?

4, ¢ (-2)+ x>

Question Number : 104 Question Id : 1034351116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find out the whether the statement is true or false in case of monotony :
f'(x) > 0 = f (x) increasing.

fi(x) <0 = f(x) decreasing

Options :

1. ¥ Statement 1 is true , Statement 2 is false

2. ® Statement 2 is true, Statement 1 is false

3. ¥ Both statements are true

4. ¥ Both statements are false

Question Number : 104 Question Id : 1034351116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THRGdT 1 U & 1 B [ YT T 8 A1 7Tera &
f(x)> 0= f(x) 9¢ BT 8|

f(x) <0 = f (x) € @I 8

Options :

1. % $YT 1 IA 7, YT 2 3T §

2. % HYT2 T @, HYT 1 3T 3

3. ¢ S HYT I §

4. % T HYT 3T g



Question Number : 105 Question Id : 1034351117 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Calculate the number of asymptotes from this function of f (x) =
(+X(x2— 9)).

Options :

1.* 0

2.% 1

3. % 2

4.9 3

Question Number : 105 Question Id : 1034351117 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 e O sFaxafRial & Te & TUFT B £ (x) =
(+X(x2— 9)).

Options :

1.*0

2.% 1

3.% 2

4.3

Question Number : 106 Question Id : 1034351118 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is volume of a cone of height H and radius R ?
Options :

1. ¥ (1+3)nR?H

2. % (1+2)nR*H

3. % (1+3)rR*H

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option



4. % (1-2)nR*H

Question Number : 106 Question Id : 1034351118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
$dTs H 3R ST R aTd WP HT 31a- 1 82
Options :

1. ¥ (1-3)nR*H

2. % (1=2)nR*H

3. % (1+3)nR*H

4, % (1-2)nR*H

Question Number : 107 Question Id : 1034351119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The area of the region trapped between the curves y = x*
andy =x+2is:

Options :

1. % 103

2. % 92

3. % 2+3

4, % 10+6

Question Number : 107 Question Id : 1034351119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Wy=x2ﬁy=x+2$@a§qgaa$[éﬂm%:
Options :

1. % 10=3

2.% 92

3. % 23

4. % 10+6



Question Number : 108 Question Id : 1034351120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The spin field or rotation field or turning field goes around the origin instead of away from it. The field is S. If S is perpendicular to R then their
dot product is :

Options :
1.¥0

2. % 1

3. % infinite

4. # not defined

Question Number : 108 Question Id : 1034351120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

?%mﬁﬁm%mﬁ%wﬁgﬁ%mw%ﬂﬁw%eaas%m%s,R%ciqqd%a‘rqumW
Options :

1.v0

2. % 1

3. % 3Fd

4. % RYIG 81 §

Question Number : 109 Question Id : 1034351121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which statement does not satisfied the condition for the radial fields and spin fields :
Options :

1. # The radial fields R and R+r and R+r? are all gradient fields.

2. ® The spin fields S and S+t are not gradients of any f(x, y).

3. % The spin field S+1? is the gradient of the polar angle 6 = tan—'(y+x).

4. ¥ The radial field having multiple of R = - yi + xj



Question Number : 109 Question Id : 1034351121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI I YA (ST Wics R A Pics & foe Rufa o1 Igy 18] axar s
Options :

1. % ETT BIee R SR R+r 3R R T AT 8F B

2. % RA®EIE s 3R s+ fF fix, y) ®1 IS TE B

3. % U IS S+12 YAl BIT 0 = tan—'(y+x) BT ASTC B

4.9 R =-yi+xj P U dTd ST &

Question Number : 110 Question Id : 1034351122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The area of an ellipse is _ when the semiaxes have lengths a and b.
Options :

1. #® 1+(2nab)

2. #® (1+2m)ab

3. ¥ nab

4. % 2mab

Question Number : 110 Question Id : 1034351122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T SIUq &1 &% Bidl & ofd 3Hef-318f 31 TaTE a 3R b BT G
Options :

1. % 1+(2mnab)

2. % (1-2m)ab

3. ¥ mab

4. % 2mab



Question Number : 111 Question Id : 1034351123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Zero of x>-64 will be :

Options :

1. % £2

2. % +64

3.9 18

4. % 4

Question Number : 111 Question Id : 1034351123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
x2-64 &1 Y BN ;

Options :

1. % 42

2. % +64

3.9 18

4. % +4

Question Number : 112 Question Id : 1034351124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
This polynomial x*+8x+16 has :

Options :

1. * one positive and two imaginary zeros
2. ¥ two -ve zeros

3. * three real zeros

4. *# no zero

Question Number : 112 Question Id : 1034351124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
U TgUG x*+8x+16 T &:

Options :

1. % TP YD 3R & Hlead LA
2. ¥ & BUTHS

3. % O dRdidd

4. % AR

Question Number : 113 Question Id : 1034351125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find out the number of equivalence classes that can be defined by the set {4,5,6} :
Options :

1. % 4

2.¥5

3.% 6

4, % 15

Question Number : 113 Question Id : 1034351125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T {4,5,6} GRT ARHING T ST T aTel JeddT Tl &1 ST J1d By
Options :

1. % 4

2.¥5

3.% 6

4. % 15

Question Number : 114 Question Id : 1034351126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one is not true for equivalence relation :



Options :

1. ¥ Relation R is Reflexive, i.e. aRa V a€A.

2. % Relation R is Symmetric, i.e., aRb = bRa

3. % Relation R is transitive, i.e., aRb and bRc = aRc.
4. ¥ Relation is transpose i.e., R—'= {(b, a): (a, b) € R}

Question Number : 114 Question Id : 1034351126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I ey & fore 1 a1 vet T8t 3

Options :

1. % T R T B, YT aRa V a€A |

2. % FdY R JAMT §, 314fd, aRb = bRa

3. % Y R YHHP (efied) g, 31T aRb 3R bRe = aRe.
4. ¢ TEY T&fiaR (¢=I9) & 3MUTd, R—'= {(b, a): (a, b) € R}

Question Number : 115 Question Id : 1034351127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two triangles consisting of 1 +2 + - - - + n pebbles and fit them together with one additional diagonal of n + 1 pebbles. The Sum of the First n
Integers :

Options :

1. % \(n)
2. ¥ (n+1)>
3. % n2

4. % (n+1)

Question Number : 115 Question Id : 1034351127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ARy 1+2+ - +n U B § SR I n + | UsA & T 3ffaad faaw 0l & A1 fOhe §1d & | U8dl n U] &1 A1 6:



Options :
1. % \(n)
2. % (n+1)?
3. % n?

4. % \(n+1)

Question Number : 116 Question Id : 1034351128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ged (112,20) =

Options :

1. % 12

2. %20

3.4

4. %3

Question Number : 116 Question Id : 1034351128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ged (12,20) =

Options :

1. # 12

2. % 20

3.4

4. % 3

Question Number : 117 Question Id : 1034351129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ged (18,30) =

Options :

1.¥6



2.%9
3.%5
4. % 10

Question Number : 117 Question Id : 1034351129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gcd (18,30) =

Options :

1.¥6

2.%9

3. %5

4. % 10

Question Number : 118 Question Id : 1034351130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one is not the possible row operations on a matrix :
Options :

1. ® Interchange any two rows

2. % Add two rows together.

3. #® Multiply one row by a non-zero constant.

4. % Turn the numbers in the bottom row into positive

Question Number : 118 Question Id : 1034351130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI T TH TG W JHT 3 Hfehar Tl &
Options :

1. % {55l QI A BT 3o o dgad

2. % QA DI TH Y SIS |

3. % T 3 P YA fadie I 7om HI |




4. ¢ SR B A H GBIl pT YATHS H gl

Question Number : 119 Question Id : 1034351131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one is true when A matrix is in row echelon form :
a)The first non-zero number from the left (the “leading coefficient*) is always to the right of the first non-zero number in the row above.
b)Rows are not attached to all zeros are at the bottom of the matrix.

Options :

1.¥a

2.%D

3. % Both statements are true

4. % anyaorb

Question Number : 119 Question Id : 1034351131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIF T IA § 99 U 3HTegg X WUHS U H g:

a) 9T 3R T UGl YR H-AT ("3FI07 0" THLT W Bi A H Uga YR T& & el R el 7
b) 3 3R & Fae wiT & Tt I O St TR B |

Options :

l.pf/a

2. % b

3. % g HYT I §

4. % 2T DI ot

Question Number : 120 Question Id : 1034351132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the row echelon form of :
[ 1020
30 40]

Options :



1. %12
30 40]
2. %12
0-20]
3.¥[12
01]
4. %12
0-10]

Question Number : 120 Question Id : 1034351132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
% &7 FUMS (TAM) =Y J1d B

[ 1020
30 40]

Options :
1. % [12
30 40]
2.% 12
0-20]
3.9 (12
01]

4. %12
0-10]
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Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
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Question Number : 121 Question Id : 1034351133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a and b are any two real numbers; then
| atb | < |a| + |b| is true for :

Options :

1. ® Ifa>0and b >0, then a+b>0

2. % Ifa <0 and b <0, then a+b<0

3.¥ Ifa>0and b<0, thena+b=|a| - |b|

4. % Ifa>0and b>0, thena+b=a| + |b]

Question Number : 121 Question Id : 1034351133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



gf¢ a 3R b s &l IRAAP JATY ¢, dl
|a+b | < |a| + |b| U & T 9 &
Options :

1. % gf2 a0 3R b >0, A a+b>0

2. % TfE a <0 3R b <0, A a+b=<0

3.¥ G a>0 3R b<0,da+b=|al- |b|

4. % T a>0 3R b >0, Aa+b=a +b|

Question Number : 122 Question Id : 1034351134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a and b are any two real numbers then :|a-b| _ ||a]-|b||
Options :

1. % <

2.¥ >

3 %

4. % (=)

Question Number : 122 Question Id : 1034351134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e a 3R b D5 &l IRATdD =Y & dl Ja-b| _ al-bl]
Options :

1. % <

2.9 >

3 8 o

4.% ()

Question Number : 123 Question Id : 1034351135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Which is not the properties of Absolute Value :

Options :
1. % |a|>0
2.¥ |-al=a

3. % |—a[=a

4. % |a-bl=la| - |b|

Question Number : 123 Question Id : 1034351135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
DA FRUG A ST R | :
Options :

1. % |a|>0

2.% |-al=a

3. % |—al=|al

4. % |a-bl=la| - |b|

Question Number : 124 Question Id : 1034351136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Simplify : (3x)+((5x+1)-2)

Options :

1. % (3x2x)+ (x+1)

2. % (Bx(xt+1))+( 5-2(x+1))

3. ¥ (3x)+( 5x-1)

4. % (3x(3—2x))+ (x+1)

Question Number : 124 Question Id : 1034351136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IRATPA B : 3x)+((5x+1)-2)



Options :

1. % (3x—2x)+ (x+1)

2. % (3x(x+1))+( 5-2(x+1))
3. ¥ (3x)+( 5x-1)

4. ® (3x(3-2x))+ (x+1)

Question Number : 125 Question Id : 1034351137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sn = (2n + 1)=(n+1) ; If lim n tends to infinity and Sn = 2 then Sn would be ?
Suppose that [f'(x)|<r<1 -oo < x < oo then x=f(x) has:

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. 1+(n+1)

2. 1+(2n+1)

3.2+(n+1)

4. 2+(2n+1)

Question Number : 125 Question Id : 1034351137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sn = (2n + 1)=(n+1); TS lim n 3d BT AR TGS 3R Sn = 2l Sn BTN
qH o T || <r<1 -o0 < x < ool x=f(X) & :
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :



1. I+(n+1)
2. 1+(2n+1)
3. 2+(n+1)
4.2+(2n+1)

Question Number : 126 Question Id : 1034351138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Suppose that [f'(x)|=r<1; -c0 < X < oo then x=f(X) has ?

Options :

1. # No real solution
2. # Many solution
3. % Infinite solution

4. ¥ Unique solution

Question Number : 126 Question Id : 1034351138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 9 & |[F(x)|<r<1; -o0 < x < o A x=F(X) & ?
Options :

|. % PIS IRAfAD g Tel
2. % B3 A

3. % 3dgd

4. ¥ 3 (THIP) B

Question Number : 127 Question Id : 1034351139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A convergent sequence is
Options :



1. # integral
2. % bounded
3. % Unique

4. % conditional

Question Number : 127 Question Id : 1034351139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS SRR (H-doie) IHH §
Options :

1. # HH[hd

2. ¢ UReG

3. % Y

4. % DI

Question Number : 128 Question Id : 1034351140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A divergent infinite series that does not diverge to +oo is said to be
Options :

1. # linear

2. # non linear

3. ¥ oscillatory

4. % arbitrary

Question Number : 128 Question Id : 1034351140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U SISToC 3d AT ol 200 H TIR] TR 81 |, Y BT ST &

Options :

1. % QB



Question Number : 129 Question Id : 1034351141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sum of a convergent series is ?
Options :

1. #* integral

2. # bounded

3. ¥ Unique

4. % conditional

Question Number : 129 Question Id : 1034351141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FRRT (Faoi-e) Aoft HTANT S 2
Options :

1. # HH[D AT

2. % UREs

3.9 Y

4. % ORI

Question Number : 130 Question Id : 1034351142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series X a(n) converges  if X a(n) <oo

Note: For this question, discrepancy is found in question/answer. So,this
question is 1gnored for all candidates.



Options :

1. absolutely

2. conditionally
3. equally

4. locally

Question Number : 130 Question Id : 1034351142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TH Y/ATT a(n) __ HRROT (F-aoi-) BT ¢ G T a(n) < oo

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. qufcar
2. g9

3. A =0 Y
4. MG TR W

Question Number : 131 Question Id : 1034351143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be the order and degree of the differential equation :4x(d*y+dx?)+6x*(dy+dx)3*-9xy=0
Options :

1. ¥ Third order, first degree

2. # First order, fourth degree

3. % First order, third degree

4. # Third order, Third degree

Question Number : 131 Question Id : 1034351143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

3IHd FHIHIU &1 HH 3R ST o Rl Ax(dPy+dx3®)+6x2(dy+dx)3>-9xy=0
Options :

1. ¢ ¥R 554, Ugalt fSUt

2. % Tgal %H, Tt {3

3. ® gl ohH, AR Sl

4, % IR s, IR feoit

Question Number : 132 Question Id : 1034351144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the difference equation P(n+1) = aP(n )+ b then, if P(0) =2, a= 3, and b = —1, what is P(2)?
Options :

1. %5

2. % 5

3. 14

4. % 15

Question Number : 132 Question Id : 1034351144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 3R GHIBRUT P(n+1) = aP(n )+ b al, AR P(0) =2, a =3, 3R b =-1, A P2) T &?
Options :

1. %5

2. % 5

3. 14

4. % 15

Question Number : 133 Question Id : 1034351145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the formula for logistic growth?



Note: For this question, discrepancy is found in question/answer. So,this
question is 1gnored for all candidates.

Options :
l.dN +dt=1rN
2.dt=rNx dN
3. dN=rN=dt
4. dt=rN =dN

Question Number : 133 Question Id : 1034351145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qfSEd g 1 ¥ R @2
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

l.dN +dt=rN

2.dt=rNx dN

3. dN=rN=dt

4. dt=rN =dN

Question Number : 134 Question Id : 1034351146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When the growth rate was 1 % per year , the world population in 1965 was 4 billion. If the modelled equation is given by P=4(2.1).. Population
growth in Sweden in from July 1965 to July 1966 was approx.

Options :

1. % 1340000000
2. % 1440000000
3. % 1540000000
4. ¥ 1640000000



Question Number : 134 Question Id : 1034351146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oS i R 1% Tfd a¥ 2, 1965 & fay 1 S 4 fafera= | afe ufaeiid @eds) THeur p= 4(2.1) gRT feaT T g | @S 1965 9
SdTg 1966 I Tdte- H SHIREAT gfg AU ot

Options :

1. % 1340000000

2. % 1440000000

3. % 1540000000

4. ¥ 1640000000

Question Number : 135 Question Id : 1034351147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one is the Malthus equation?
Options :

1. % dN+dt=1N

2. % N+ dt=(b— d)N

3. % dN =+ dt = log ( A+bt)

4. % dN = dt=Nx e~0.00000111 t)

Question Number : 135 Question Id : 1034351147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B T TR FHHT 57

Options :

1. % dN=+dt=1N

2. % dN+dt= (b — d)N

3. % dN =+ dt = log ( A+bt)

4, % dN =+ dt=Nx e~0.00000111 t)



Question Number : 136 Question Id : 1034351148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the order of this equation? (d*y+dx?) - (dy+dx)* +3x =10
Options :

1. %0

2.% 1

3.2

4, % 3

Question Number : 136 Question Id : 1034351148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T JHHRUT BT HH T 82 (d2y=dx?) - (dy+dx)* + 3x = 0
Options :

1.% 0

2. % 1

3.¢2

4, % 3

Question Number : 137 Question Id : 1034351149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The ordinary differential equation is :
(d?y+dx?) -4x%y +cos x =0

Options :

1. # Linear and homogeneous

2. % Linear and Non homogeneous

3. % Non Linear and homogeneous

4. ® Non Linear and Non homogeneous



Question Number : 137 Question Id : 1034351149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TIYRUT 3{ddhel GHIBRUI -

(d?y+dx?) -4x?y +cos x =0

Options :

1. % Gw R grosi-ier

2. ¢ IRAF SR IR TG

3. % RGP 3R o1

4. % IRGD 3R IR grosiIe™

Question Number : 138 Question Id : 1034351150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one may or may not take form of model ?
Options :

1. # statistical models

2. # differential equations

3. ¥ game of theoretic models

4. ¥ logical models

Question Number : 138 Question Id : 1034351150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B Ufaey &1 U o bl g IT el H o Tobdl 82
Options :

1. % FiRADI Ufd=y

2. % 3[gehe] FHIBRUI

3. % Jgifde iea &1 9

4. ¢ dlfdrp Aled

Question Number : 139 Question Id : 1034351151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The relationship between logistic growth and population data ?
Options :

1. # (I=y)x(dy=dt)=ry(a —y)

2. ¥ dy +dt=ry(a—y)

3. % (L+y)x(dy+dt)=(d+dt)x(log y)

4. % (I=y)x(dy=diy=ry(a (y)

Question Number : 139 Question Id : 1034351151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AfiRe® gfg 3R SFEReAT ST & alg e
Options :

L. % (I+y)x(dy=dt)=ry(a —y)

2.¥ dy ~dt=ry(a—y)

3. % (L+y)x(dy+dt)=(d+dt)x(log y)

4. % (lxy)x(dy=dt)=ry(a (y)

Question Number : 140 Question Id : 1034351152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the solution of this differential equation (d?y) +(dx?)

Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :

1. y(x) = acos(x) +bsinx
2. y(x) = asin(x) -bcosx
3.y (x)= tan(x)

4. y(x) = cot(x)



Question Number : 140 Question Id : 1034351152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
39 A FHIBRUT BT & T B (dy) +(dx?)
= _y?

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.

Options :

1. y(x) = acos(x) +bsinx
2. y(x) = asin(x) -bcosx
3.y (x)= tan(x)

4. y(x) = cot(x)

Discipline3
Group Number : 8
Group Id : 10343558
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
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Section Id : 10343558
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Question Number : 141 Question Id : 1034351153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Solve : lim x—0 log (&%)

Options :

1.¥0

2. %1

3. % -1

4. % ¢

Question Number : 141 Question Id : 1034351153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TA DN : lim x—0 log (e¥)

Options :

1.9 0

2. % 1]

3. % -1

4. % ¢

Question Number : 142 Question Id : 1034351154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Solve : lim x—-2 (2x3+ 4x? + 8x +10)
Options :

1.¥ -6

2. % 58

3.%0

4. # infinity

Question Number : 142 Question Id : 1034351154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A BN lim x—-2 (2x3+ 4x2 + 8x +10)
Options :

1.¥ -6

2. % 58

3.%0

4. % 3fFqdr

Question Number : 143 Question Id : 1034351155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one is not related to limit of function?
Options :

1. # The Constant Function Rule

2. # The Constant Multiple Rule

3. # The Power Rule

4. ¥ The addition rule

Question Number : 143 Question Id : 1034351155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI T e Bt ST Y Teferd T8t 82

Options :



1. % fgdie wad Aaw
2. % fgdie T aq
3. % grd fAgq

4. ¢ e g

Question Number : 144 Question Id : 1034351156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
This function is : f(x) = ( x*=2x +2)+ (x*+ 1)
Options :

1. % continuous

2. # discontinuous

3. % linear

4. % Non Linear

Question Number : 144 Question Id : 1034351156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T8 B f(x) = (x— 2x +2)~ (x*+ 1) §
Options :

1. qdd

2. % 3Ydd

3. % P

4. % IRITY

Question Number : 145 Question Id : 1034351157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the intermediate value of this function :f(x) = ( x>~ 2x + 2)~ (x*+ 1) ?

Note: For this question, discrepancy is found in question/answer. So,this



question 1s 1gnored for all candidates.
Options :

1.2

2.12

3.1

4.3+4

Question Number : 145 Question Id : 1034351157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 A BT HTA A T8 f(x) = (x2— 2x +2 )+ (x*+ 1) ?

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1.2

2.1+2

3.1

4.3+4

Question Number : 146 Question Id : 1034351158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one is not the method to recognise whether this function is discontinuous or not?
Options :

1. ¥ Show that the function fails the sequence definition.

2. # Prove by contradiction by relating it to a function known to be discontinuous.

3. # Show that the function fails the e~ & definition.

4. ¥ Decomposing a function into simple discontinuous functions.

Question Number : 146 Question Id : 1034351158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

g0 A HIF At U8 UgaH- & 3 81 & b I8 o 3rad g a1 Tal?

Options :

1. % fmTt f e e d uRH & fathd | g |

2. % fRIYTHY gRT 33 T U o A Jafd B Jiiad b o/ 3qdd JHT STl g |
3. % faamd {6 B e— 5 URYTY & fohd g1 5|

4. ¢ TP e &l IR 3dd ol H fqafed &1

Question Number : 147 Question Id : 1034351159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which composition of elementary function is not considered as derivable ?
Options :

1. # polynomial

2. % exponential

3. ¥ injective

4. ® trigonometric

Question Number : 147 Question Id : 1034351159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
UTYTHs W & ford Toe &1 e gl HHT SITdl 82
Options :

1. % §gUC

2. % TR

3. ¥ Ul

4, % DBIufidy

Question Number : 148 Question Id : 1034351160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Is the derivability of a function x* possible ? If yes then what is the range?

Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. yes at x=1

2. yes at x=0

3. yes 0<x<1

4.no

Question Number : 148 Question Id : 1034351160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 fddl e x2 &1 gy ¥y g2 afe gf al dmr s g2
Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :
L8 x=1W
2.8 x=0W
3. 8T 0<x<1

4. T8t

Question Number : 149 Question Id : 1034351161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which is not the way to write Taylor expansion :
Options :

1. # quadratic

2. * cubic



3. # constant
4. ¥ onto

Question Number : 149 Question Id : 1034351161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I T TR TR forem &1 et e &
Options :

1. % fgurd

2. % Ydq

3. % fodie

4, ¥ IR

Question Number : 150 Question Id : 1034351162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Taylor expansion of e :

Options :

L. # 1+x+((1+3)(x2)H(1+6)(x3))+ -

2. % TxH(146)6e) (1))

3. % 1+xH((1-2)(x2)H(1+2)(x3)+ -

4, 9 1+x+((1+2)(x))H((1+6)(x3))+ -~

Question Number : 150 Question Id : 1034351162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e DI TR TR ;

Options :

1. % 14+x+((1-3)(x2)H(1+6)(x3))+ -

2. % I+xH((1+6)(x2)+H(1+2)(x3))+

3. % Thc((1+2)(2)H12) X))+ -



4.V TxH((1=2) () HA6) )+

Question Number : 151 Question Id : 1034351163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In sin(h) =h + O (h?) ; what is the value of O(h?) ?
Options :

1. % (1+31)xh3

2.9 (-1+-31)xh?

3. % (1=2)xk?

4, % (1:2)xh?

Question Number : 151 Question Id : 1034351163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
sin(h) = h + O (h?) H; O(h?) BT HH FIT 82
Options :

1. #® (1+3!)xh3

2.9 (-1:3)xh?

3. % (1+2N)xh?

4. % (1+2N)xh?

Question Number : 152 Question Id : 1034351164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Determine the domain of the following function, f(x,y,z)= 1/\/(X2+y2+22—16)
Options :

1. ¥ X2+y2+22>16

2. & X4y +72>-16

3. % X2+y*+7<16

4. % AllR



Question Number : 152 Question Id : 1034351164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad wad &1 uuaes FuiiRd &%, fix,y.z)= 1N (x+y*+22-16)
Options :

1. ¥ X2+y>+z2>16

2. % X*y*+z2>-16

3. ® X*+y*+z%<16

4. % gUIR

Question Number : 153 Question Id : 1034351165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The function f(x)= x™* (x€R)attains maximum at x= ?

Options :
1. %1
2. % -1
3.%0
4. ¥ 1/e

Question Number : 153 Question Id : 1034351165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ba f(x)= x* (x€R) 3fVHTH x=2 R U i1 8
Options :

1. % 1

2. % -1

3.0

4.9 1/e

Question Number : 154 Question Id : 1034351166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The maximum always occurs at a:
Options :

1. # Stationary point

2. # rough point

3. % end point

4. ¥ critical point

Question Number : 154 Question Id : 1034351166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Options :

1. % LIRIUig<

2. % IG U<

3. % TS U<

4. ¢ fopfepe Uig<

Question Number : 155 Question Id : 1034351167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the volume | | | dx dy dz inside the unit sphere x>+ y? + z2 = 1.
Options :

1. % 21

2. % 4

3. ¥ 473

4, ¥ 213

Question Number : 155 Question Id : 1034351167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



SHIS T x>+ y2 + 22 = | D 3R 3T | [ [ dx dy dz 1T DY
Options :

1. % 21

2. % 4

3. % 473

4. % 273

Question Number : 156 Question Id : 1034351168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the prism volume in the order dz dy dx (six orders are possible).

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1.1

2.2

3.3

4.4

Question Number : 156 Question Id : 1034351168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HH dz dy dx H IS0 TTaH 10 B (S HH IHTB) |

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1.1

2.2

3.3



4.4

Question Number : 157 Question Id : 1034351169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Green's theorem is

Options :

1. ¥ a line integral around a simple closed curve C to a double integral over the plane region line D bounded by C.

2. % the surface integral of the curl of a function over a surface bounded by a closed surface is equal to the line integral of the particular vector
function around that surface.

3. # aline integral around a simple closed curve C to a double integral over the dimensional region D bounded by C.

4. % 3 double integral around a simple closed curve C to a line integral over the dimensional region D bounded by C

Question Number : 157 Question Id : 1034351169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

piERstr

Options :

1. ¢ TH AIYRU 8¢ (FAeS) I C & IRI R Th 361 JHIG A ¥ C §RT IRTE THAd &5 361 D IR fgdh THIH - d |

2. % TH dg (Fdive) Ide I UREG Tag W [l e & Hd ol Jag JHIG AT 39 Idg & IRI 3R faRy Ifewr e & 361 HIG A
& NSRS &I

3. % o YIYRUI §¢ (FAes) b C & AR 3R T 3@ JHIGH A ¥ C gRI IReg faig &9 D R fgw g a& |
4. % TH YR §¢ (FAGS) I C & IRI AR T fgdh GHIH AT ¥ C gRT UREG [GHIT &5 D TR T L@ JHIH A db

Question Number : 158 Question Id : 1034351170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The total flux | F. n ds through every closed curve is
Options :

1. % =2

2.¥0

3. % o



Question Number : 158 Question Id : 1034351170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T §G (FS) a%h & T1eH I $of SHUATE | F.nds §
Options :

1. % 72

2.9 0

3. % o

4. % 1

Question Number : 159 Question Id : 1034351171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which operator is used in stokes theorem
Options :

1. ¥ curl

2. * logical

3. % open

4. % set

Question Number : 159 Question Id : 1034351171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wi THg B {59 GRS o1 YANT {1 STl 82
Options :

1. ¥ &d

2. % Alfb®

3. % g (3AT0)

4. % =g



Question Number : 160 Question Id : 1034351172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the difference between stokes and green theorem

Options :

1. ¥ Green's theorem states this for objects of dimension 2 living in a space of dimension 2, and Stokes' theorem states this for objects of
dimension 2 living in a space of dimension 3.

2. % Green's theorem states this for objects of dimension 3 living in a space of dimension 2, and Stokes' theorem states this for objects of
dimension 2 living in a space of dimension 3.
3. # Green's theorem states this for objects of dimension 2 living in a space of dimension 2, and Stokes' theorem states this for objects of
dimension 3 living in a space of dimension 2.

4. % Green's theorem states this for space of dimension 2 living in a objects of dimension 2, and Stokes' theorem states this for objects of
dimension 2 living in a space of dimension 3.

Question Number : 160 Question Id : 1034351172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

wIag 3R W via B o7 3[R B

Options :

g:ﬁﬁ;wuﬂ;ﬁmz%@ﬁﬁﬁﬁmzﬁmﬁ%aﬁﬁmiﬁ?@aﬂuﬂﬂﬁm3$¥r&@ﬁwﬁa@fﬁmzﬁm&ﬁ
el

%:ﬁzﬁgwuﬁ;ﬁmz$mﬁ?€ﬁa@ﬁm3ﬁaﬁsﬁ$aﬁﬁmiﬁ?muﬁnﬁm3$mﬁwﬁaﬁﬁmzﬁaﬁaﬁ
EGIGIE

%:ﬁiﬂgwuﬂ;ﬁmz$ﬁmﬁwﬁaﬁﬁmzﬁaﬁeﬁ$a&ﬁwi@T@Hﬂﬂﬂﬂﬁz%ﬂﬁgﬁ@ﬁaﬁﬁm3ﬁaﬁ3ﬁ
ERIGIE

4. % Y ST U0 fouT 2 Ft aegell # Xg- aral famT 2 & R & IR § §a1d1 7, 3R Tiay Uad famr 2 &1 axgsii & fore foun 3 ot afiy o

EA S IRA A

Discipline4
Group Number : 9
Group Id : 10343559



Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline4

Section Id : 10343559

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 10343571

Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 1034351173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which function is not the Riemann integrable?

Options :

1. * bounded
2. ¥ unbounded
3. % continuous

4. * discontinuous



Question Number : 161 Question Id : 1034351173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B T A ST FAIGH 61 32
Options :

1. ® URex

2. ¥ IUNEG

3. % Yqdd

4, % AH{dd

Question Number : 162 Question Id : 1034351174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Suppose that f': [a, b] — R is bounded, P is a partitions of [a, b],
and Q is refinement of P. Then which one is true :

Statement 1: U(f; Q) < U(f; P)

Statement 2: L(f; P) < L(f; Q)

Options :

1. %1

2. % 2

3. % both statements are true

4. % Both statements are false

Question Number : 162 Question Id : 1034351174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AF TP f:[a,b] > RUNTG €, P, [a, b] BT TH AHUSH B,
3R Q, P HT MY T ol P I I &

DY 1: U(f; Q) < U(f; P)

DY 2: L(f; P) <L(f; Q)

Options :

1. ¥ 1]

2. %2



3. ¢ TF HYT T §
4. % G HYT I T

Question Number : 163 Question Id : 1034351175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If f: [a, b] — R is bounded and P, Q are partitions of [a, b],
then :

Options :

1. % L(H <U®)

2. % LK P)<L( Q)
3. % U(f;, Q) <U(f; P)
4. ¥ L(f;P) < U(f; Q)

Question Number : 163 Question Id : 1034351175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe £: [a, b] » RURTG 8 3R P, Q, [a, b] P faHH &, a1 -
Options :

1. % L(H) < U

2. ¥ L(EP)<L(; Q)

3. % U(f; Q) <U(f; P)

4. ¥ L(f; P) < U(f; Q)

Question Number : 164 Question Id : 1034351176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Solve : lim e—0+ | (1+ (2Vx)) dx ; with 0 <e < 1
Options :

1.¥ 1

2.%0

3. % 14



4. % 12

Question Number : 164 Question Id : 1034351176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TA DN lim e—0+ ] (1+ 2Vx)) dx ; 0 <e < 1 B 1Y
Options :

1.¥ 1

2.%0

3. % 1+V4

4. % 1+\2

Question Number : 165 Question Id : 1034351177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Solve : | 1+t dt with 0< t <x

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. 1+t

2.Inx

3. 1=x

4. 1+x?

Question Number : 165 Question Id : 1034351177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BA DY [ 1+ dt D T 0< t<x

Note: For this question, discrepancy is found in question/answer. So,this



question 1s 1gnored for all candidates.
Options :

1. 1+t

2.Inx

3. I=x

4. 1+x?

Question Number : 166 Question Id : 1034351178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If {Fn} converges uniformly to F on S; then {Fn} converges  to F on S.
Options :

1. ¥ point wise

2. % closed subset

3. ®¥ constant

4. % integer

Question Number : 166 Question Id : 1034351178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g (Fn} SRF A YAA Y Y SRR HRATS, @ (Fn) ST JF H RRU daT |
Options :

1. ¢ fagar

2. % §¢ (Fve) Iuag=Y

3. # fgdie

4. % qulich

Question Number : 167 Question Id : 1034351179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The function fj (x) = xi ; j > 0; define the infinite series. The nth partial sum of the series is :



Options :

Question Number : 167 Question Id : 1034351179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

W fj (x) = xi; j > 0; S YT BT GRUIT B | §aT BT nadl ifRH TN -
Options :

l. # Fj(x) = 1-x + x>+.....+xi

2. ¥ Fn(x) = 1+ x + x>+.....+x2

3. % Fn(x) = x+ x2 + x>+.....+x2

4. #® Fj(x) = x- +x2+......+x

Question Number : 168 Question Id : 1034351180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
lim x—o0 (In x +x) ?

Options :

1. # 0 diverges

2. # oo converges

3. % 0 converges

4. ¥ oo diverges

Question Number : 168 Question Id : 1034351180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
lim x—o0 (In x +x) ?
Options :

1. % 0 Ssdol gidl &



2. ® OOW@?H%
3. 0 g9l BldT &
4. % o STRA BIAT &

Question Number : 169 Question Id : 1034351181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The series X((x - 5)")+ n?) has radius r = 1 around its basepoint a = 5. What is the interval of convergence?
Options :

1. % 0<x<1

2. ¥ 4<x<6

3. % 0<x<2

4, % 0<x<n

Question Number : 169 Question Id : 1034351181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

/AT 3((x - 5y n?) B AT r= 1 § N 3P MYR g a = 5 F MU B SHTRROT BT ST 7 82
Options :

1. % 0<x<1

2. ¥ 4<x<6

3. % 0<x<2

4, % (0<x<n

Question Number : 170 Question Id : 1034351182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The convergence of the series X(x"+n) is
Options :

1.¥ 1

2.%0

3. % -1



Question Number : 170 Question Id : 1034351182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
G 3 (xn) T TR R

Options :

1.9 1

2.%0

3. % -]

4. % ¢

Question Number : 171 Question Id : 1034351183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A setis  if and only if it contains all its limit points:
Options :

1. # open

2. % closed

3. % joint

4. % disjoint

Question Number : 171 Question Id : 1034351183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T 9=d 3 afc 3R dhad afe 38 39 gl It g e &

Options :

1. % Tl (3)
2. ¥ §G (FITS)
5. % W

4. % 3GYad




Question Number : 172 Question Id : 1034351184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The intersection of finitely many open sets is  and union of finitely many closed setsis
Options :

1. ¥ Open, closed

2. % Open, open

3. #* closed, closed

4. % closed, open

Question Number : 172 Question Id : 1034351184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

URTAd &3 Qo (30 T o1 Ufdde 8 3R URfAd &3 d¢ (Filvs) Ig=di w1 fied 3
Options :

1. ¥ G (3T S (FTeS)

2. % m@w,w@w

3. ¥ dq (HISS), dq (HKISS)

4. % §q (FISS), WGl (31U

Question Number : 173 Question Id : 1034351185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Topological space is -- a metric space
Options :

1. # Always

2. ¥ Sometimes

3. % never

4. % vice-versa

Question Number : 173 Question Id : 1034351185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Options :

1. % gORM

2. ¢ Ut - ot
3. % 8T
4. % [qUdqar

Question Number : 174 Question Id : 1034351186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

which one of the following has topological property
Options :

1. % Near compactness

2. % Path connectedness

3. % Path compactness

4. # Near connectedness

Question Number : 174 Question Id : 1034351186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffad 7 3 feas u dfRufds @ieifees) 7o e

Options :

1. % R $Uacg
2. ¥ U SS9
3. % O HUdeq
4. % TR PAfdesd

Question Number : 175 Question Id : 1034351187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Every Cauchy sequence in a metric space is ___ and not a
Options :

1. # Topological ,convergent

2. # Homoeomorphic ,convergent

3. ¥ Convergent, topological

4. % Topological , homoeomorphic

Question Number : 175 Question Id : 1034351187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Afesw Iy & udS HIh rgHH g 3R TR
Options :

1. % IfYfAP (@A), SRR (@-dsi<)

2. % B, SR (@-deie)

3. ¢ JFRRUN (FHdoi<), GRUTAH (erarariorma)

4. % IYfaP (@AaroG), S D

Question Number : 176 Question Id : 1034351188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If all convergent sequences are mapped to convergent sequences then the functionis
Options :

1. #® Discontinuous

2. % continuous

3. # not defined

4. ® differentiated

Question Number : 176 Question Id : 1034351188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe gaft IfRUT (Frasi) SIIHHI Bl SR (Fdoie) 3 IHH! | ufafesd fParaag diwad . §




Options :

1. # 3Idd

2.9 {dd

3. % ORYIST =gt
4, % 3Hddhd

Question Number : 177 Question Id : 1034351189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Every metric space is :

Options :

1. # Normed space

2. % Topological

3. # continuous

4. # Congruent

Question Number : 177 Question Id : 1034351189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T Afcs IAT g -

Options :

1. % HHfbd gHE

2. ¢ IfRUfAH (@aairma)

3. % Yqdd

4. % FafTEH

Question Number : 178 Question Id : 1034351190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If p and & are equivalent metrics on a set A; then (A, p) and (A, m)
have the  and sets



Options :

1. # Open ,different
2. % Closed, same

3. ¥ Same ,open

4. # Different, closed

Question Number : 178 Question Id : 1034351190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ife T A R p AR 2 THL ARFE, N (A, p) R A, T R Jq=di €
Options :

1. % Gl (3T, 3MeT

2. * 9 (FKiIwS), GHM

3.  JUM, oIl (319)

4. % 3{a, d¢ (Fva)

Question Number : 179 Question Id : 1034351191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A set T is compact if it hasthe  property
Options :

1. # Heine -corel

2. # Jaein -borel

3. # Uniqued

4. ¥ Heine -borel

Question Number : 179 Question Id : 1034351191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TP =0 T HAdC g IE SUH U TqUrg

Options :




1. % g9-®Rd
2. % Sgq -aRd
3. % 3F

4. ¢ B34 dRd

Question Number : 180 Question Id : 1034351192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If T is compact ,then Tis  and

Options :

1. # Bounded and open

2. # (Closed and unbounded
3. # Unbounded and open

4. ¥ Closed and bounded

Question Number : 180 Question Id : 1034351192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g THMee, T R R
Options :

1. % UREg 3R JaT (37TF)

2. % §¢ (Fivs) 3R uRdg

3. % JOREg 3R Ja (=)

4. ¥ §¢ (FIsS) 3R URT=
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Question Number : 181 Question Id : 1034351193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A group G is complete if g —ig: G — Aut(g) is :
Options :

1. ¥ Isomorphism

2. % Automorphism

3. ®* homomorphism

4. * hetromorphism

Question Number : 181 Question Id : 1034351193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



WWG@%Q‘%g—»ig:G—»Aut(g)%:
Options :

1. ¢ JHRUT (IMSYAIHH)

2. % Jichthod

3. % gragifthery

4. % goHIthay

Question Number : 182 Question Id : 1034351194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A ofagroup G is a subgroup H such that oH = H for all automorphisms a of G.
Options :

1. # general subgroup

2. % characteristic subgroup

3. % normal subgroup

4. ¥ argumented subgroup

Question Number : 182 Question Id : 1034351194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TEGH  UH IUNHE HIY A & [ o = H, G & T+ ffemifthod o & T 31
Options :

1. % ORI HgYU

2. ¥ IRaFeRREH JaYy

3. % ArHd qegU

4, % TOHIS JagU

Question Number : 183 Question Id : 1034351195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Let Hi<G fori € {I,...,n}. Then which of the following sets doesn't satisfy the IDP properties ?



Options :

1. ® Hi <G, for all i

2. % G=HI - -Hn={hl - -hn:hi€Hi}

3. hl - -hn=x1 - - - xn, with hi, xi € Hi

4. % Hidef=HI - - - Hi-1 - Hi+1 - - - Hn, Hi N Hi = {1}

Question Number : 183 Question Id : 1034351195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TAdfFHi<GHFMMTie (1,...,n) | N FUARETH I D9 91 TG4 [DP 0N B AP ol HRT 82
Options :

1. % Hi G, 9l i & forw

2. % G=HI - -Hn={hl ---hn:hi€Hi}

3. hl--hn=x1-xn, hi b Y, xi € Hi

4. % Hidef=HI - - - Hi—1 - Hi+1 - - - Hn, Hi N Hi = {1}

Question Number : 184 Question Id : 1034351196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which condition is not used to satisfy an internal direct product :
Options :

1. * G has a neutral identity element.

2. ® Every element of G1 commutes with every element of G2.
3. % G2 al|=|Gl 02| =1

4. ¥ Glal =Gl

Question Number : 184 Question Id : 1034351196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
®IF Y 01 BT YT AR S TUHET B TP B & faTd I8! bl ST &:

Options :




1. % G U U dc® UgdH UferHe g

2. % Gl ®1 YIS Ufede G2 & U Uferde & I IR Rl 5|
3. % |G2al|=|Gl a2|=1

4.¥ Glal =Gl

Question Number : 185 Question Id : 1034351197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which condition is not equivalent regarding the group theory ?

Options :
1. ¥ aeG forall x € G
2. % Glol =Gl

3. # G2al is a singleton {d1} with dlal=dl
4. % Glal N G20l is a singleton {d1}

Question Number : 185 Question Id : 1034351197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oI I FRuf I Rigia & dey & Tide 81 /2

Options :
1. ¢ I aeG H U G
2. % Glol =Gl

3. % G2q1 U RITde (d1) 8 H dlal=d1 §
4. % Glal N G20l U RITTACA § (d1)

Question Number : 186 Question Id : 1034351198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is not the level of transitive of conjugative classes :
Options :

1. # fold transitive



2. #* double transitive
3. ¥ inverse transitive

4. % transitive

Question Number : 186 Question Id : 1034351198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B g1 G i & Feprufiy TR AR -
Options :

1. % Bics gifdfed

2. % S9d gifdfed

3. ¢ yfday ciftfea

4. % ¢if¥fed

~

Question Number : 187 Question Id : 1034351199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A finite group Gisa __ if and only if every element has order a power of p.
Options :

1. # conjugative group

2. % p-group

3. ® cyclic group

4. % dihedral group

Question Number : 187 Question Id : 1034351199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS URIAYHE G BIA1§ AG 3R had dHl 518 Ui ferde & p & °1d &1 HHA gl

Options :
1. ® gt gy
2. ¥ p-UHE




3. % iy YUG
4. % SgSd YYg

Question Number : 188 Question Id : 1034351200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Every nontrivial finite p-group has __ centre.
Options :

1. * nodal

2. % radial

3. % graphical

4. % non trivial

Question Number : 188 Question Id : 1034351200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T IR-JS IR p- TR HT PE gl gl
Options :

1. % qred

2. % YT

3. % Uit

4. ¢ IR featem@

Question Number : 189 Question Id : 1034351201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let G be a finite group, and let |G| = ((p*) xm) with m not divisible
by p . The properties doesn't fit for the condition :

Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.



Options :

1. Any two Sylow p-subgroups are conjugate.

2. Let s(p) be the number of Sylow p-subgroups in G

3. Every p-subgroup of G is contained in a Sylow p-subgroup.

4. A Sylow p-subgroup is normal if and only if it is the only Sylow p-subgroup

Question Number : 189 Question Id : 1034351201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AF o o G T IR THE B, 3R m & 1Y (G| = ((pr) xm), p I fquTsa 781 1 7701 39 FRufq & fore Suged €1 &
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. @13 i 3 el p-SuTg S g § |

2. A A BT s(p), G H Ul p-SUTHG! B! =T §

3. G BT YD p-3UHHE U Hiell p-IudHg H gAIfRd 5

4. T 4l p-SUTHE I § afe 3R Had afe a8 T Ridl p-SUaHg §

Question Number : 190 Question Id : 1034351202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Every group of prime order is ?

Options :

1. ¥ cyclic

2. % abelian

3. % triangular

4. % non abelian

Question Number : 190 Question Id : 1034351202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
UT2H 3T BT Tdd g § 2

Options :

1. ¥ IbiYg

2. % e

3. % FpIvig

4. % IR SaferH
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Question Shuffling Allowed : Yes

Question Number : 191 Question Id : 1034351203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the main objective of punishment to students?
Options :

1. ¥ It is a form of moral education.

2. # Itis a form of immoral learning

3. % Itis not a form of moral education

4. % Itis not a form of immoral learning

Question Number : 191 Question Id : 1034351203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BT DY ol & BT T I T 82
Options :

1. ¢ Tg A e 311 wu gl

2. % TG 3D & P UH FU 3

3. % g A e &1 1o U A 7
4. % g 3 & BT Ub FU 51 o

Question Number : 192 Question Id : 1034351204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of this is a benefit of an Activity Based Curriculum ?
Options :

1. ¥ To develop creative thinking skills

2. % To develop acting skills

3. % To develop creative laughing skills

4. ® To develop creative writing skills



Question Number : 192 Question Id : 1034351204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T8 J DI 91 Iafaf sneria urewal &1 ary g2
Options :

1. ¢ TS foia PIrd fas R & & o

2. % T HIUd fawRid w3 & forw

3. % IS g HIRI fABRId HR & forg

4. % TS TG HINA fqHRId B & forw

Question Number : 193 Question Id : 1034351205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Literacy skills specialised to history, science, mathematics, literature or other such matter is called?
Options :

1. #® Basic Literacy

2. ® Intermediate Literacy

3. # Foundational literacy

4. ¥ Disciplinary Literacy

Question Number : 193 Question Id : 1034351205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

sfaery, fagm, nfvra, Tfec a1 ¥R €1 o fawal & foru fafRiy wrerdr HIrd &1 w81 SiraT 82
Options :

1. % gfard Jrarar

2. % TEaa AeRdl

3. % JMYRYT FI&RdT

4. SFRMTATHS JT&R

Question Number : 194 Question Id : 1034351206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Maths study can help person develop which of the following skill?
Options :

1. # Discovering the beauty of the universe

2. # Opening doors in research

3. ¥ better problem-solving skills

4. ¥ Awareness of the world

Question Number : 194 Question Id : 1034351206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

O T ST o D! HRTIRId B I DI 1 HId [awRid - H Hag o 9ohdl 82
Options :

1. % SRS BT Y&l Bl WISl BT

2. % QY H TR Wl

3. ¢ SR THW-THTYH DR

4. % g1 DI SRSl

Question Number : 195 Question Id : 1034351207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In order to arrive at gender equalised school, a holistic approach involving various interventions is required. From following which one is holistic
approach?

Options :
1. ¥ Training teachers in the skills for making the teaching and learning processes responsive to the specific needs of girls and boys.
2. # Implement and enforce a policy for reporting child sexual abuse and handling disclosures from children.

3. # Provide programmes on role for parents to make them a part of their children’s safety and security at school and while going to and from
school.

4. ® Make certain that campus security is in place so that all visitors are screened through the office and unusual incidents/visitors are handled
carefully.



Question Number : 195 Question Id : 1034351207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT FHHGT aTel faeer de ugaq & forg, fafts gwaadl aftd U aww e s (@ifiRes i) &1 sawadmdl gidl ¢ | Fafafea d 9

B 91 gAY =PI (@feifesd T 82

Options :

ér.f;‘wﬁﬁ@vaﬁﬁﬁ%wﬁ%ﬁ%&wﬁmﬁmﬁﬁm@aﬁ%mﬁaﬁaﬁﬁwﬁ
&UT &I

2. % T I 20T Bt RUIE a3 3R T & o § e & e Hfa ar] HA1 iR Hae STl

3. % TTa1-Odr &) faeme & SfR faamed STd oiR SiTd THd 30 S &t RE 3R & HT g a9 & o1 YA )R SRishd UeH

&

4. % gAY HAT b Ui JRem 518 H § difs Qaft Smige! &t Srafad & HIeqH ¥ S &1 off Wb 3R SR YIS/ 3HIgH| Bl

HIIYT I YT T b |

Question Number : 196 Question Id : 1034351208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Gender differences can be noticed in relation to physical activities. Females are more into domestic activities, whereas men are into~ ?
Options :

1. ® Domestic responsibilities

2. ® Offspring care

3. # cooking and care giving

4. ¥ Manual labour

Question Number : 196 Question Id : 1034351208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRR TfAfafe & Tefe H T SicR @ o Tebell & | AfgaTy TRe Tafafdl & it g1 g5 8, Tafb goy _ Higo
Options :

1. % o fomerat

2. % G DI G@HIA

3. % QGHETTHT 3R G@HTA BT




4. ¥ QRING 99

Question Number : 197 Question Id : 1034351209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Narration is an art in itself which aims
Options :

1. ¥ At presenting to the speaker

2. ¥ At presenting to pupils

3. # At presenting to participators

4. ® At presenting to the writers

Question Number : 197 Question Id : 1034351209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HYUF U TG T T el g oradhl Se-d

Options :

1. % gadl &I U¥dd BT §

2. ¢ faeffat ) vRgd BT ©
3. % PRI & URgd 31 8
4. % TGP I UK BT §

Question Number : 198 Question Id : 1034351210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a characteristic of good information?
Options :

1. # Valid

2. % Reliable

3. # Timely

4. ¥ Costly



Question Number : 198 Question Id : 1034351210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed & 9 31 I ot TR &1 faRivar gl g2
Options :

1. % qY

2. % faygeg

3. % JHYIfd

4. TG

Question Number : 199 Question Id : 1034351211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which is the first step towards evaluating?
Options :

1. #® Define evaluation questions

2. ¥ Define the purpose and parameters
3. % Select apt methods

4. ® Identify the participants

Question Number : 199 Question Id : 1034351211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
i 1[G H Ugell HeH S A1 52
Options :

1. % T Ui I GRUTT BT

2. ¢ IERY 3R HYSS! DI R FH=AT
3. % JUYdd dRIP] bl TG HRAT

4. % GIAHTRI B Uga BT



Question Number : 200 Question Id : 1034351212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
of the UNCRPD deals with the right to education of persons with disabilities.
Options :
1. ¥ Article 24
2. % Article 36
3. % Article 42
4. % Article 32

Question Number : 200 Question Id : 1034351212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UNCRPD &1 faspa el 1 fRian & PR I YefRd |
Options :

1. ¢ 3G 24

2. % 3G 36

3. % TG 42

4. % 3G 32



